UGC NET 2022 PUBLIC ADMINISTRATION

Topic:- 14_PARTA_S1

1) Who said that three hasic problems in developing the science of Public Administration are
normative value, understanding human behaviouwr and relationship bhetween Public
Administration and its social setting,
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[Question ID = 726][Question Description = 101_14_Public_Admin_0CT22_Q01]

1. Robert Dahl

[Option ID = 2901]
Herbert Simaon

[Option ID = 2902]
3. AN Farvazmard

2.

[Option ID = 2903]
4. Chmnztopher Hood

[ i,

[Option ID = 2904]
2) Which of the following considered Public Admimistration as zocially embeded process of
relationship, dialogue and action to promote human fourshing for all?
FrteiEd 0 o (Fa rF TOEE F GESE =Y § EE 1 98y TR §AR H SEaE] F wd S
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[Question ID = 727][Question Description = 102_14_Public_Admin_0CT22_Q02]
1. New Public Admimistration
TH HF T
[Option ID = 2905]
2. New Public Management

[Option ID = 2906]
3. II Mannowhrook Conference

11 =T meme (e )

[Option ID = 2907]
4. TII Minnowhrook Conference

III Terers T (Fd)



[Option ID = 2908]

3)  The integration of several paris into an orderly whele to achieve the purpose of undertaking
1z called
[Question ID = 728][Question Description = 103_14_Public_Admin_OCT22_Q03]
1. Hierarchy
[Option ID = 2909]
2. Direction
ELsie
[Option ID = 2910]
3. Coordination
T
[Option ID = 2911]
4. Leadership

77

[Option ID = 2912]

4)  Which of the following, who have hy force of personal abilities iz capable of having a profound
and extra ordinary effect on followers?

Fretieiiga & 7 19 R @EAE F g6 A SETEd WS A SR T S 8 Age 7
[Question ID = 729][Question Description = 104_14_Public_Admin_OCT22_Q04]
1. Traditional leader
Lrenucie o
[Option ID = 2913]
2. (Charismatic leader

Ed Lﬂlé 51?1T

[Option ID = 2914]
3. Profesional leader

[Option ID = 2915]
4. Situational leader

[Option ID = 2916]

5  Whe among following considered that the best organisation try to incorperate the best of bath
machnistic and organic sytems of organization?

TrtateEs O o s fan T & a=1 9 Ot o 3T oF1 21 wenleT #1 afmied 554 )

[Question ID = 730][Question Description = 105_14_Public_Admin_OCT22_QO05]
. Henrv Mintzberg



[Option ID = 2917]
2. Tom Burng and G. M. Stalker

[Option ID = 2918]
3. &.P. Rohhins

[Option ID = 2919]
4. W. Edward Deming
[Option ID = 2920]

6) The French title of Henri Fayol's classic hook "Administration and Industrielle et Generale
was translated by Storrs as

= B T = BEE F 52 TAF  USHERZTE A7 sSRzas 72 S (Administration and
Industrielle et Generale) 1 ¥R T2 NI 39 9 | A =)

[Question ID = 731][Question Description = 106_14_Public_Admin_0OCT22_Q06]
. General and Industrial Mangement

General and Industrial Mangement

[Option ID = 2921]
2. General and Industrial Admimstration

General and Industrial Administration

[Option ID = 2922]
3. General Administration and Industrial Management

General Administration and Industiial Management

[Option ID = 2923]
4. Industrial Administration and General Management

Industrmal Administration and General Management

[Option ID = 2924]

7)  ‘Bounded — rationality’ is determiened in decision making is founded on the individuals
ability

o i A Hitea giearaar (ahd) Hetloriad o 9 e daiE SEaT 9 s 27

[Question ID = 732][Question Description = 107_14_Public_Admin_0OCT22_Q07]
1. To comprehend vastness and complexity of decizsion territory

[Option ID = 2925]
2. Torespond to the environment of decision

[Option ID = 2926]



3. Of reasoning power that ave limited

[Option ID = 2927]
4. Tegaccord under weightase to information recerved first.

[Option ID = 2928]
8) Which one of the following réplaced the Secretariat Executive Council?

TA=Aege | TRE 5 S T TS S s
[Question ID = 733][Question Description = 108_14_Public_Admin_0OCT22_Q08]
1. Prime Minister's office
TUH HHl T FEE

[Option ID = 2929]
2. (Central Secretariat

F2E g

[Option ID = 2930]
3. Cabinet Secretariat

wase (HEEz) arEEeE

[Option ID = 2931]
4.  Office of Internal Affairs

[Option ID = 2932]
9)  Which one of the following is not part of XI Schedule of the Indian Constitution?

FelelEs & @ 91 9uaE At #1 X1 3G #5906 2 ¢

[Question ID = 734][Question Description = 109_14_Public_Admin_0OCT22_Q09]
1. Safe Drinking water

[Option ID = 2933]
2. Public Distribution system

[Option ID = 2934]
3. Animal Husbandry, dairving and poultry

[Option ID = 2935]
4. Swatch Bharat Programme.

[Option ID = 2936]



10)  The Public Services Guarantee Act for time-bound service delivery was first introduced in
India in the yvear

qFA T 95| "7 T H S HAl A A F S5 T -9g (9 Ha] TR
[Question ID = 735][Question Description = 110_14_Public_Admin_0OCT22_Q10]

1. 2005

[Option ID = 2937]
2. 9010

[Option ID = 2938]
3. 9012

[Option ID = 2939]
4. 9014

[Option ID = 2940]

11)  Who among following authorizes to make rules for more convenient transaction of business of
Government of the state?

T=tielig § @ %9 T WEE ® AR GEaraE e HEeE $ 569 § 90 99E % TS0 s #al

=7

X

[Question ID = 736][Question Description = 111_14_Public_Admin_0OCT22_Q11]
1. Governor
=91

[Option ID = 2941]
2. Cabinet

T
[Option ID = 2942]
3. Chief Minister

== =

[Option ID = 2943]
4. Chief Secretary

gisT A
[Option ID = 2944]

12)  YWho among following appoints the Chief Minister of National Capital Territory of Delhi?

TreitEs B H i g M TEEE a9 F e S5 A A 20

[Question ID = 737][Question Description = 112_14_Public_Admin_0CT22_Q12]

1. President

Lain
[Option ID = 2945]
2. Tjeutenant Governor of Delhi
[Option ID = 2946]
3. Chief Justice of Delhi High Court



et 7= =T = we =i

[Option ID = 2947]
4. Prime Minister

e B

[Option ID = 2948]
13) The principle based on Zero-fossile fuel energy, zero waste and zero emission is called

[Question ID = 738][Question Description = 113_14_Public_Admin_0OCT22_Q13]
1. Green Urbanization

[Option ID = 2949]
2. Intelligent Urbanisation

[Option ID = 2950]
3. Balanced Urbanisation

[Option ID = 2951]
4. Developed Urbamsation

[Option ID = 2952]
14)  Which of the following statemerits is correct about the concept of Rural-Urban continuum?

Fr=Aletias @ 3 AT 2 TR SAteseR (FI=2N ) Th A o 6 6 HE A

[Question ID = 739][Question Description = 114_14_Public_Admin_0OCT22_Q14]

1. It means villages and towns are disconnected entities
TAF #9426 Mia AN T GHI (S - ) e 8

[Option ID = 2953]
2. Tt means that village and towns ave inter linked and yet different fram each other.

TEE WA R T A AW EE e -mEian 7, 5 0 v o e E

[Option ID = 2954]
3. It explain the process of urbanization

7 TEAEAT i U A B

[Option ID = 2955]
4. It means migration of rural people to mities and of Urban people to the villages

T Y AT S0 T TR S SR ST e H i 2

[Option ID = 2956]



15)  Fred Rigzs in his seminal works ‘Prismatic Society Revisited” did not include the discussion

on.:

w3 fom A sl ynise win Treatzs amed) fifEtaes 6 FefeEa 8 5 e W S atetew 6 6 27
[Question ID = 740][Question Description = 115_14_Public_Admin_0CT22_Q15]
1. Developed Societies.

[Option ID = 2957]
2. Structural Functonahism

AT TR
[Option ID = 2958]
3. Importance of citizen participation
E IR r\li.':.‘- q ":Jllﬁ =1 qp'.'i

[Option ID = 2959]
4. Need for Differenciation and Intesration

A 5 i~ e
[E L EAE A | L THERTERIO] =Rl HTITEHRTT

[Option ID = 2960]

16)  Which of the following theory is not propounded by Ferrel Heady
e =5 ° et § 1 e faem = a5 e oan
[Question ID = 741][Question Description = 116_14_Public_Admin_0OCT22_Q16]

1. Modified Traditional

[Option ID = 2961]
2. Development oriented

[Option ID = 2962]
3. General system model building

AT T e A
[Option ID = 2963]
4. Tnstitutional Effeciency improvement model
T FAeal a1 it

[Option ID = 2964]

17)  The last two states to join the United States of America are

T T AN WS B A S1EE 51 ]

[Question ID = 742][Question Description = 117_14_Public_Admin_0CT22_Q17]
1. Alaska & Hawai

[Option ID = 2965]



2. Atlanta & Hawan

[Option ID = 2966]
3. Wyoming & Atlanta

= 317 3

[Option ID = 2967]
4. Wyoming & Alaska

[Option ID = 2968]
18)  The fifth republic constitutions of France was adopted in the vear

Wi F U TUATSE w6 HEgE T SPTET T T A

[Question ID = 743][Question Description = 118_14_Public_Admin_0CT22_Q18]

1. 1946

[Option ID = 2969]
2. 1953

[Option ID = 2970]
3 1056

[Option ID = 2971]
4. 1958

[Option ID = 2972]

19)  Discretionary Grants to states for development is given by the Union Government Under
Artiele of the constitution

TH WEW gAT dfaaE F WF=ET & AT U] F GEE F TATE ° Eaah e SATE 9EE
T = 2

[Question ID = 744][Question Description = 119_14_Public_Admin_0CT22_Q19]

1. 9275

[Option ID = 2973]
2. 230

[Option ID = 2974]
3. 282

[Option ID = 2975]
4. 268

[Option ID = 2976]

20) The Union Government of India adopted the merger of Plan and Non-Plan classification in
Budget and Aceounts from the year:

rT ] 9 BFE 1 5 99 ° §92 97 +0Fl 5 S0 UF T -araEeTE S 6 (99T =R 4T e
[Question ID = 745][Question Description = 120_14_Public_Admin_0CT22_Q20]
1. 2015-16

[Option ID = 2977]
2. 2016-17



[Option ID = 2978]
3. 2017-18

[Option ID = 2979]
4. 201819

[Option ID = 2980]
21)  Which one of the following is not a merit of Progressive Tax?

ez 7 Frem witaste # # vE g A 20
[Question ID = 746][Question Description = 121_14_Public_Admin_0CT22_Q21]
1. Principle of Equality
[Option ID = 2981]
2. Equal distribution of income
A F I fam

[Option ID = 2982]
3. Bocialism

[Option ID = 2983]
4. Opportumties of Emplovment

[Option ID = 2984]

22) Who among the following described the two situations ie: “Unfavourable exclusion” and
“infavourable exclusion” in the concept of Soecial exclusion?

Fefates 3 8 e ot atee (e vgasasa) $1 sEann 8 7 Eat-iege ateen
(AT T ) W T AR (ST T ) 1 J0 A R

[Question ID = 747][Question Description = 122_14_Public_Admin_0OCT22_Q22]
1. Amartya Sen

[Option ID = 2985]
2. Jagadish Bhagavathi

ST 9T

[Option ID = 2986]
3. 9md Agministrative Reforms Commisgion

oA TETEEE gEE A

[Option ID = 2987]
4. Ayvind Subramanvam

[Option ID = 2988]

23)  The name of Untouchability (Abolition) Act was changed as in 1976,



SFIYTA (3G ) ¥iaEEn H 1976 § % =9 1 uREiad T 4
[Question ID = 748][Question Description = 123_14_Public_Admin_0OCT22_Q23]
Protection of Civil Rights Act
Trfeaer sfewn wamr Atat=m
[Option ID = 2989]
2. National Untouchability (Abolition) Act
T S () s
[Option ID = 2990]
3. Ahnimum Social Rights Protection Act

[Option ID = 2991]
4. Human Rights Protection Act

[Option ID = 2992]

24)  The Constitution of India has made for some special provisions for Weaker Sections of Society

for their Uplhifiment in:

GUAR WU B FEleigs 3 9 A0 9619 % S0 @ % 36h F 60 F 99 EEE e T E
[Question ID = 749][Question Description = 124_14_Public_Admin_0CT22_Q24]
1. Article - 41

=g - 41

o

[Option ID = 2993]
2. Article- 46

AT - 46

[Option ID = 2994]

3. Avtiele- 21
H=aa - 21

[Option ID = 2995]
4. Article - 38

=7 - 38

[Option ID = 2996]

25) The main reason for evolution of Welfare State emerged due to: [ ]

FeAEE 59 F IgEE & 359 H GEd HBO0 A

[Question ID = 750][Question Description = 125_14_Public_Admin_0OCT22_Q25]
1. First World War

oy Hva 13

[Option ID = 2997]

2. Great Economic Depression



[Option ID = 2998]
3. French Revolution
TN ™
TRIEET Fa
[Option ID = 2999]
4. Russian Revolution

[Option ID = 3000]
26) Which ameng the following 1s not a corvect statement related to Group Theory

Freafefgs & & Fiw %29 99z faga & @0 8 79 7 27
[Question ID = 751][Question Description = 126_14_Public_Admin_0OCT22_Q26]
1. The influence of group by their strensth

[Option ID = 3001]
2. (Group is determined by organizational strength

TR T WEATEF A F FEiE e 2

[Option ID = 3002]
3. Individual center is powerful than sroup

Fafr s TR 1 e # A w7 R

[Option ID = 3003]
4. Interaction among groups is the central fact of politics

THE T A - TAANG H S e 7

[Option ID = 3004]

27)  Elite theory of public policy 1s related to :

A A1 1 G9E 9 WEE AEerEs § H e gy 27
[Question ID = 752][Question Description = 127_14_Public_Admin_0CT22_Q27]
1. Soelety divided into classes and masses decide public policy
=0 SR T B fFeea 5arE S A SariE w2

[Option ID = 3005]
Non elites. who have accepted the basic elite consensus can be admitied to soverning

circles

2.

TT-HEA =2, T8 o7 A9 =1 # = e e

[Option ID = 3006]
3. Elites are influenced by masses and their values

TYT W FAa1 T I o] H 79T 2 2

[Option ID = 3007]
4. Changes in public policy will be revolutionary rather instrumental



= T § TEeT FEF F S S =

[Option ID = 3008]

28) Identity the author of the hook ‘A Pre-View of Policy Sciences™?
[Question ID = 753][Question Description = 128_14_Public_Admin_0CT22_Q28]
1. Thomas R. Dye

[Option ID = 3009]
2. Harold D. Lasswell

[Option ID = 3010]
3. Charles E. Lindbolm

[Option ID = 3011]
4. Elinor Ostrom

[Option ID = 3012]

29)  Which among the following 1= NOT an obstacle to rational poliecy making.

=feEs O o Sl T A SR E U e T oA

[Question ID = 754][Question Description = 129_14_Public_Admin_0OCT22_Q29]
1. Advanced computerized analvtical technigues donot have sufficient intelligence to
calculate the accurate cost and henefits:

TEEd FEAF (GCIeE FFATE § HEE W A0 S R e e aaim A a6
T 7
[Option ID = 3013]

, Large investments In existing programmes and Policies help the policy makers for
reconsidering alternatives;

FTEFA AR i 9 9 Faw Fifq Feen w1 fFwen woEEEn g geEa Fw w

[Option ID = 3014]
3. Many conflicting benefits and costs cannot be compared or weighed:

FAF THUETAIET ST HT A H1 g 31 G T8 AT A1 AT

[Option ID = 3015]
Uneertainity about the conseguences of various Poliey alternatives couples the policy

4. , 3
makers to stick as closely a possible.
Tatim i = 6 el F AW W Seeandl A [Eae] w a9Ead W6 59 " 143 1 H
e an |

[Option ID = 3016]



30)  Which among the following are called as Peak Associations?

TATeEs # 4 T 5 ma (d e ) F2 am 20

[Question ID = 755][Question Description = 130_14_Public_Admin_OCT22_Q30]
1. Largest and most influential groups in a Policy domain.

wF il &7 () O Tenen S mEieE veEee whE

[Option ID = 3017]
2.  (Corporate companies are to able to pump the wealth.

IS FOE 5 F Fam E age E

[Option ID = 3018]
3. Strones communications network in a developed state

T (A T H HAgE SR A2a

[Option ID = 3019]
4.  Conflicting Intervests expressed by a commumnity.

[Option ID = 3020]
31)  Which of the following are / 1s not related to Droit Administratif
=g & 0 B Fa 52 USHAREE | Heig T8 77

[Question ID = 756][Question Description = 131_14_Public_Admin_0OCT22_Q31]
1. French administrative law iz known as ‘Droit Administratif

FHTET TOEF T SEE USHAEEE A H A6 A A

[Option ID = 3021]
It 1= a hody of ruler which determine the organizations, power and duties of public

2. s .
admimstration
o7 Taml =1 % =1 2, A AF TEEA F A, T S wee & HaiiE w2

[Option ID = 3022]
3. Tt represent the rule and principle enacted by the parliament

[Option ID = 3023]
4. It regulate the relation of administrator with citizens

[Option ID = 3024]
32) In admimstrative law. the ‘mght to fair hearing’ is called-
TEF FA H S A A R = e
[Question ID = 757][Question Description = 132_14_Public_Admin_0CT22_Q32]
. Natural Justice

[Option ID = 3025]



2. -Audi alteram Partem’
‘wrEr ey ey’

[Option ID = 3026]
3. Delegated Lesislation

TS =9
[Option ID = 3027]
4. Equality before law
[Option ID = 3028]
Governance theorists identify the Governance iz closely related ta:

2, 7 A iy ey =9 F Hetad B¢

i

33)

[Question ID = 758][Question Description
1. Capacity of Government

133_14_Public_Admin_0CT22_Q33]

[Option ID = 3029]
2. Flected representatives

F"rr_r- .r-r“ﬁ

[Option ID = 3030]
Community Development activities

3.

[Option ID = 3031]

4. Top down approach of Government

TFT T 2 =T (S ) e
[Option ID = 3032]

34)  Which of the following is not & principle of e-lvanti?

f=fatEs 5 9 FEE s 1 7% HEE T84 2

[Question ID = 759][Question Description = 134_14_Public_Admin_0CT22_Q34]
1. Transformation

[Option ID = 3033]
2. Tntegrate Services

[Option ID = 3034]
Government process Re engineering

[Option ID = 3035]
4. TUniform lansuaze across nation

3.



T 79 H AEE AT

[Option ID = 3036]

35)  Which among the following is NOT related to the characteristics of ISO certified ‘Sarvotham
Nodel'.

[FEENgT B FE9] T4 3. 00,371, UE G408 [eE 3 GeEd 3 g99iEd 99 20

[Question ID = 760][Question Description = 135_14_Public_Admin_0CT22_Q35]
1. Tt is for the strengthening the new work of grievance redressal mechanism

%, TR A 79 F SeaE A 99 & O A

[Option ID = 3037]
2. Ttis for effective system of citizen charter

% “fEfeaa = 1 w g w2

[Option ID = 3038]
3. It was recommended by II ARC

AT ToTEEEE e T e s A

[Option ID = 3039]
4. TIti= related with Public Sector in India.

7E W § HEAAT 89 ° a6ad 2

[Option ID = 3040]

36) Secaling errors can be eliminated by

eiEEa © T e gE TR v G0 gad I 1 Se R S ol 27

[Question ID = 761][Question Description = 136_14_Public_Admin_0CT22_Q36]
1. Adjusting true values of population parameters.

FHEEAT % HCS] % T OF B qEEET FE

[Option ID = 3041]
2. Avoiding Bias

EE T ST
[Option ID = 3042]
3. Increasing the Sample Size,

Tiaest ST 8 g F

[Option ID = 3043]
4. Decreasing the Sample Size.

Tideel #APRE 5 FH] T
[Option ID = 3044]

37)  The Title of the hook by Abraham Eaplan on behavioural Science in research i1s.........

MG T AT EE W SIS FAAE T 6 A S

[Question ID = 762][Question Description = 137_14_Public_Admin_0OCT22_Q37]
1. The Conduct of Inguiry



T FrmF HTF SR

[Option ID = 3045]
2. The Conduect of enquiry

[Option ID = 3046]
3. The Conduct of Social Inguiry
7 Femdz ST I e

[Option ID = 3047]
4. The Conduct of hehavioural research

ST (e i MBS
T Trsa2 ATF Wl e T

[Option ID = 3048]
38) Which one of the following iz not a tool of research?

Tanigs § § %9 91 I9 1 UF 0FA9 5 2 7

[Question ID = 763][Question Description = 138_14_Public_Admin_0CT22_Q38]
1. Librarvy

I i
[Option ID = 3049]
2. Statistics
TS (i)
[Option ID = 3050]
3. Report writing

far—smm

[Option ID = 3051]
4. Language

Ll
[Option ID = 3052]

39) Reliability and validity in research reflects the

WG B AU o dud —— 7R gt =l A

[Question ID = 764][Question Description = 139_14_Public_Admin_0OCT22_Q39]

1. Unigueness

[Option ID = 3053]
2. Usefulness

el

STETETA
[Option ID = 3054]
3. Qua]j.t}—



[Option ID = 3055]
4. Acpuracy soundness & replicability of Data

el ATl S Lidi.lf‘j_'l-ﬁr!dl
[Option ID = 3056]
40)  Which of the following has been described as the master key to Good Governance by the IInd
Adminmstrative reforms Commission?
T TeEtE guw s A eetEe § 5 e g i F S w0 § 90 e 2
[Question ID = 765][Question Description = 140_14_Public_Admin_0OCT22_Q40]
1. Promotion of e-governance
Z-IMHEA T WA o

[Option ID = 3057]
Ethies 1n Governance

TEA H AT

[Option ID = 3058]
3. Raght to Information

2.

[Option ID = 3059]
4. People Participation
EE R LA
[Option ID = 3060]
41)  Consider the following Characteristics of Hierarchy

(A) It iz inherent with division of work
(B) It 1s a channel of Communication
(C) It 1z a path of delegation

(D) It determines the authority, structure of organisation
Choose the most correct answer from the options given helow ;
95 BOH F1 Aty @t o fa=En i

(A)  F = =9 % W A 7
(B) o= HTI9U =1 UF HISIE 7
(C) =% A=A T TE 9 3

(D) =% H92A & WG, GUEA1 T HEii e F

Fr= foo 70 Towe § 1 TE I R 99 i

[Question ID = 766][Question Description = 141_14_Public_Admin_OCT22_Q41]
. A B.COnly

FaTA B, C

[Option ID = 3061]



2. A C.DOnly

FaF A C.D

[Option ID = 3062]
3. B.C.DOnlv

FAa B.C. D

[Option ID = 3063]
4 A B.C.DOnly

AB.C.D

[Option ID = 3064]

42) Yon Slyke. O'Leary and Kim listed which of the proactive steps for making public

Administration a stronger and more robust -

(A Supportive collaborative research
(B) Demand to maintain methodelagical and epistemological pluralism,
() Understanding non-western culture

(D)  Promoting boundary spanming

Choose the most appropriate answer from the options given below .
= T=EE Al Wi AR T F o T T S A v9E 9E F o efeten § @ e ot
(A)  FHATEE] TEEAPTEHF TG
(B)  TTTEAT SR A HATAR SESAEE A T 6 A e
(C)  T-afg=dl FeHf 1w

(D) == =T T IEEES o

5 fou T e § | WA SR 3 = A

[Question ID = 767][Question Description = 142_14_Public_Admin_OCT22_Q42]
. A BOnly

FT7 A. B

[Option ID = 3065]
2. A B.C,Only

a9 A B. C

[Option ID = 3066]
3. A C.DOnly

Fad A.C. D

[Option ID = 3067]
4 A B,DOnly

Fa9 A.B.D

[Option ID = 3068]



43)

Consider the 1deas of Peter Drucker about management

{A) He believed that the term ‘management 1s generic

(B) He describe management as liberal act

(C) He introduced the concept of knowledge worker

(D) The conecept of Management by Objectives given hy him

Choose the correct answer from the options given helow :

127 29 F TEYA F AN H [AeiEiEd EEnl F S0 5 599 s

(A)  TF G A1 PR WSUR 9eS W (SHTE) 7

(B) =7 WE9 350 TN F B9 IUH FE 7

(C)  3M 9 FIHF T ATGEO A TEE O

(D)  TH HYEHE T A SR W T |
A= f5u v (] ® | wE I =59 i

[Question ID = 768][Question Description = 143_14_Public_Admin_0OCT22_Q43]
. ABC Only

a9 A B. C

[Option ID = 3069]

A C.D Only

Fa9 A C.D

[Option ID = 3070]

BE.C.D Only

a5 B. C.D

[Option ID = 3071]

AB.C&D

ABCHTD

[Option ID = 3072]

44)

Which of the following facts are correct about the primary responsibility of the Secretariat?

(A Budgeting and Contrel of expenditure
(B) Making and modifving policies from time to tune,
() Sectoral planning and programme formulation

(D) Planning legislation, Rules & Regulations

Choose the most appropriate answer from the options given below :



Ffteiias @ | 9 ° 7% Qe WA e F 91 # Hel 27
(A) = A H@ =

(B)  EEE-TEE W A S T @90

(C)  =ne FHarse 90 REEs S

1= Tou v faeeaT @ O HEH 39T ST B 94 w0
[Question ID = 769][Question Description = 144_14_Public_Admin_OCT22_Q44]
. A B&COnly
Fae A, Bl C

[Option ID = 3073]
2. B&COnly

a9 B 3 ¢

[Option ID = 3074]
3. 4 C&D Only

Faa A, C =R D
[Option ID = 3075]

4 AB.C&D
ABC3rD

[Option ID = 3076]

45)  Which of the following agencies work under Cabinet Secretariat?

(A) Research & Analysis wing
{B) National Authority for Chemical Weapons
(C) Special Frontier Force

D) Central Bureau of Investization

Choose the eorrect answer from the options given below :

Trafahigs & O F19 T ST Sieqe AEaeE F A39d 5 w5 80
(A) Toge vE waTeEd @

(B)  TIra T TR TiEE

(C) 9 Fiem HTd

(D) FEr T

= fou v e | J WA I 99 Fiee

[Question ID = 770][Question Description = 145_14_Public_Admin_OCT22_Q45]
. A B& COnly
A A, B3R C

[Option ID = 3077]
2. A C&DOnly



3.

4.

46)

FaA A, C#HTD

[Option ID = 3078]
B. C & D Only

a1 B. C 57 D

[Option ID = 3079]
ABC&D

AB.C3srED

[Option ID = 3080]

(A)

(B)
(C)

(D)

Which of the following statements 1s/are correct regarding Writs?

Haheas Corpus cannot be 1zsued where the proceedings 1z for contempt of a legislature
oI court.

The Write Mandamus cannot be 1ssued against a private individual or body.

The Supreme Court has ruled that the certiorari can be issued even against

administrative authorities.

Quo Warranto cannot be sought by any interested person. and necessarily. by the

‘agerieved Person only.

Choose the mast appropriate answer from the options given below :

FreteEs B | A wen A (fem) Foaw 1 55 20

(A) = A A T e A Eee S FL 35 A T (R ) A
=# T 1 W E

(B)

frft Tl ==t 1 o =+ Tamg o atam =t =1 1 =1 et 2

(C)  HaEr=a =EEE A WA § Fw 7 T gere (AtdendD) wenats e & ey O aw e

AT =

(D) TwT 7 S =i 30 STAYEE B9 F el 91 S gR] ] G hi 7F AR] S w2

e fou o fedl 8§ wEE ST 39 H 99 H

[Question ID = 771][Question Description = 146_14_Public_Admin_0OCT22_Q46]
A B. C.DOnly

1.

2.

3.

4.

A, B.C.D

[Option ID = 3081]
B. C. D Only

a9 B.C. D

[Option ID = 3082]
A B.COnly

#Fad A. B. C

[Option ID = 3083]
A B.D Only

a9 A, B. D

[Option ID = 3084]



47)

Which among the following are the functions of State Secretariat?

(A) Assisting ministries in Policy decisions.

(B)  Inplementation of Pohicies & Programmes on a day to day basis.
Q) Budgetary control over expenditure

(D) Providing information to Legislative Committees

Choose the most appropriate answer from the options given below :

- o s m - o = -
TH==A0Ea 5 3 Fl9 9 =0 g=ged & FE B

(A)
(B}
()
(D)

Hite 1Tl 5 HEET S AR =
TieTE % R WA AW el A F
52 T =P R

9 fam T faseT) ° H HeH 39T I 1 9 I

[Question ID = 772][Question Description = 147_14_Public_Admin_0CT22_Q47]
1. A B&C Only

Fa= A B C

[Option ID = 3085]
2. A B&DOnly

75 A. B3 D

[Option ID = 3086]
3. A C&DOnlr

Faa A C 3D

[Option ID = 3087]
4. ABC&D

ABCHED

[Option ID = 3088]

48)

Which of the following correct regarding reservations of seats for representdtions of Certain
section of population in Panchavat Raj institutions?
(A) Reservation of Seats for SCs as per the proportion of their population 1n the state.

(B) Reservation of Seats for Scheduled Tribes is Iinked to thelr population in that
Panchavat area.

(C) Reservation of Seats for Backward classes 1s not necessarily linked to their population.

Choose the most appropriate answer from the options given helow :



i [ e E = r 2 e . ! o e Sk o e i £
== 0Ea 8 H FEH F594 9=904G01 T8 T § G495 5 Ty I H Srlﬂﬁiﬁ = T G2 Rl AWET
T F AR H HE Y

(A) = H wE Al F AT ST SR I S ARA

(B)  IHFA S T A S aE A A9 " g3 56 2

(C)  TI=3 T F 90 HiZl T AR T S WY SEeaE =9 F 05 5 4 A

= fam T faeT O 1 HeE S9EE I 6 99 e

[Question ID = 773][Question Description = 148_14_Public_Admin_OCT22_Q48]
. AB&C

A B#ERC
[Option ID = 3089]
2. A &BOnly
Faa AT B
[Option ID = 3090]
3. A&C Only
Fad A #r C
[Option ID = 3091]
4 B & COnly
Fad B 37 C

[Option ID = 3092]

49) Which of the following are the elements of Integrated Rural Devecpment programme?
(A) Develoopinemnt of labour intensive agriculture
(B) Promotion of eash crops

(C) Emplovment generating through minor public works.

(D) Small Scale lahour intensive industries.

Choose the correct answer from the opticns given below :

FefefEs § 1 FiFa U JE e FwEw F oA 22

(A)  Hu—Fiod M F TEE

(B)  Fal FEHET B TREE oA

(C) & = A W T g

(D)  =H A g9-Fid 33

= fou T el @ E HE S S A

[Question ID = 774][Question Description = 149_14_Public_Admin_OCT22_Q49]
. ABCD
#ae A.B.C.D

[Option ID = 3093]
2. B.C.DOnly



a4 B. C. D

[Option ID = 3094]
3. A C.DOnly

Faq A C.D
[Option ID = 3095]

4. A B.D Only
#ad A.B. D

[Option ID = 3096]

50)  Which of the following are features of Sustainble development?

(A) Use of loeal resources
(B) Preservations of Environmental Diversity
() Social Justice

(D) Goegraphical equality

Choose the most appropriate answer from the options given below :
Tr=ifettaa 8 @ i =t @9 95w i e 27
(A)  =EE FEEE H 39E
(B) WA Tt e

(C)  =ET=EF =

(D) G EEA

e fou o Taweat © # TeE IeEE I R = A
[Question ID = 775][Question Description = 150_14_Public_Admin_0OCT22_Q50]
' A B.C.DOnly

AB CD

[Option ID = 3097]
2. A C,DOnly

Fa9 A C. D
[Option ID = 3098]

3. B.C.DOnly
a5 B. C. D

[Option ID = 3099]
4 A B.DOnly

a5 A.B. D

[Option ID = 3100]



51)

(A)
(B)
(C)
(I

Which of the following are Unitary (one) tier local bodies in United Kingdom?

London Boroughs
Country Councils
Metropolition Borough
City of distrmet Councils

Cheose the most appropriate answer from the options given helow :

e 5 o g-u:_a,g ST F $HE UF T0E S T 7

(A) T

(B) = FEmEH
(C) Tz WH

D) =g steee FEEea

= feu o EEEeTl © 1 weE I9EE I 1 99 A

[Question ID = 776][Question Description = 151_14_Public_Admin_0OCT22_Q51]

1. A BOnly

a7 A. B
[Option ID = 3101]

2. A COnly

FAT A, C

[Option ID = 3102]
3. A B, DOnlv

FT9 A.B. D

[Option ID = 3103]
4 B.C.D Only

a5 B. C. D

[Option ID = 3104]

52) ‘Which of the following are the features of Privatization?

(A)
(B)
()
(D)

Deregulation
Contracting Public Services to Private Sector
Encouraging Corporate Sccial Responsiblity

Disimvestment

Choose the correct answer from the options given below :



g § T S Ay $h e = 7

(A)
(B)
(o
(D)

TatEs T (Teueee)

r;"-:'a-.rl

4= 50 7o Tawea § 9 wE 39 w999 Firan

[Question ID = 777][Question Description = 152_14_Public_Admin_0OCT22_Q52]
1. A Band COnly

Faa A, B#ERC

[Option ID = 3105]
2. B.CandD Only

Fa4 B.C#n D

[Option ID = 3106]
3. A BandD Only

#ad A. B D

[Option ID = 3107]
4. A CandD Only

FaE A, C 3D

[Option ID = 3108]

53)

Fiscal deficit in Government Budget can be reduced byv.........
(A) Cutting down mefficiency

(B Improving worker's productivity

(C) Adopting new methods of Budget making

(D)  Rationalizing and economizing expenditure

Choose the most appropriate answer from the options given below :

HOFN F 952 TR UIE H......... 500 B HA A TFA 2

(A)
(B)
(C)
(D)

FHEFIAT B HH] T
FAR il IEAEAE § ER

w2 1 T g A

=4 T aFEE AN Eae 59

e fou T femeal # W HEH T I H =A A

[Question ID = 778][Question Description = 153_14_Public_Admin_0OCT22_Q53]
. A B&C Only

a9 A, B#AR C

[Option ID = 3109]
2. A C&DOnly



Fad A C#HnD

[Option ID = 3110]
3. B.C&D Only

a5 B, C s5ir D

[Option ID = 3111]
4 A B C&D

A B CHTD

[Option ID = 3112]

54)  Which of the following statements concerning the functions of a public budget are correct:

(A It is a policy statement
(B) Redistrbution of wealth
(C) A source of information

(D) It considers non-financial outcomes,
Choose the most appropriate answer from the options given helow :
T=TEs B | %A |1 E T GEAEE 992 F F0 9 gaiad 36 2 7
(A = U AATE T B R
(B) =9 1 HiEe
(C) =1 =1 0% |19
(D) =z T ot @ e -

7 150 T faEel B HeH ST I R 99T Fa
[Question ID = 779][Question Description = 154_14_Public_Admin_OCT22_Q54]
1. AandB Only
Fa5 AT B

[Option ID = 3113]
2. A BandC Only

Fad A, B3R C
[Option ID = 3114]
3. B.CandD Only
F9e1 B.C 3in D

[Option ID = 3115]
4. A D& B Ouly

Faa A.D 3 B

[Option ID = 3116]



1.

55)

(A)
(B)
()
(D)

What are the voluntary provisions. which arve observed by the state but are not hinding on it?

Providing reservation for Backward classes.
Giving voting rights to members of the Union and state legislative in bhodies,
Givinge financial powers 1s relation to taxes. duties, toll and fees.

Providing reservation for women as chairperaon.

Choose the most appropriate answer from the options given helow :

freietae & 5 18 99 § SifeoF TEYE & S 759 30 997 T S 2, @i 39 W arsEsEn] 96 2 2

)y oz o 5 oo smam = w5

(B) =™ {1 T =R F TEET] R 3 R § TARE F 9w IEE 5

(Q) =0, TEH, 2 AT FE o HEE | = oA wwe e

(D) #199% % =4 H GiEendl H AEan 95E weE

= fon 70 forFe § © WEE 399 30 R =44 A

[Question ID = 780][Question Description = 155_14_Public_Admin_OCT22_Q55]

A & B Only

Fa7 A A7 B

[Option ID = 3117]

A, B & C Only

Fae A, B #E C

[Option ID = 3118]

B & C Only

F=9 B 57 C

[Option ID = 3119]

ABCE&D

AB.C#rED

[Option ID = 3120]

56)
(A)
(B)
()
(D)

Which of the following statement is / are correct?

Article 23 of the Constitution of India prohibits trafficking being in human beingz and
heggars,

National Mission for empowerment of women was launched m 2010.
The Government announced a National Policy for Older Persons in 2014.
The Mumistry of Welfare was established in 1983,

Choose the most appropriate answer from the options given below :



FeATE B o R H T 6

(A) g FEgE 1 STEE-23 HEa S TS S aeEl w6 Ag e 2

(B) UG HiEe AR HeE A9 2010 9 gy A
(C) TwEF 2014 7 95 =HAT F o0 UF TYE AT AT 6 )

(D) =T T S 1085 § = 6 e )

S fom T Tl B H HEE SUEE I %1 99 09
[Question ID = 781][Question Description = 156_14_Public_Admin_OCT22_Q56]
" A B CandD
A B.C#HRD

[Option ID = 3121]
2. A BandCOnly

Fa9 A B#AT C
[Option ID = 3122]
3. A BandD Only
Fae A. B D
[Option ID = 3123]
4. B, CandD Only
F99 B.C @7 D

[Option ID = 3124]

57)  The basi¢ objectives of Childline ave :

(A) Respond to the emergency needs of the childven in difficulty,

(B) Provide a forum for networking among Government agencies and non-Government
agencies dedicated to child care and protection.

() Ensure protection of the child.

(D)  Provide an opportunity to communities to respond to the needs of children in difficult
CIPCUMSTANCER.

Choose the most appropriate answer from the options given below :

H1gFE A5 & §d 3594 7

(A) iz il = g 1 = A Al 9 S #|

(B) =9 g A0 S F S Surd ITERA SR A T ] 9w s S2diET F
o0 5= oE F)

(C)  =7e1 | ] HHETEd F

(D) =ia R WA A AT S ] AEERAS F Wid S F e SEeEl F AT
T

= fon o e | W mEE 3T I R g9 A

[Question ID = 782][Question Description = 157_14_Public_Admin_0CT22_Q57]
1. AandB Only

Fa9 A FR B



[Option ID = 3125]
2. A BandC Only
#a A. B3 C
[Option ID = 3126]
3. A CandD Only
A7 A, C 3D
[Option ID = 3127]
4 A B.CandD Only
ABCHID

[Option ID = 3128]

58) Knowledge Management in Public Policy refers to :

(A Managing Information Technology
(B) Managing Information resources & systems
() Managing knowledge workers

(D) Decizsion support systems

Choose the most appropriate answer from the options given below :
FF AITd B TH-WETA A Haree Fal 827
(A) T TR A TEe

(Q)  SE-HIEE A
(D) HiA-TmeEEE T

< fou o fashedl § § wEH I9EE I 1 99 A,

[Question ID = 783][Question Description = 158_14_Public_Admin_OCT22_Q58]
. A B.COnly

= A, BER C
[Option ID = 3129]
2. B, C.DOnly
#ad B. C #n D

[Option ID = 3130]
3. A €, DOnly

Faa A, C 5D

[Option ID = 3131]
4 A B.DOnly

Faa A B3R D

[Option ID = 3132]



39 The techniques of citizen control over administration ave :

(A) Public opinion

(B) Election

(C) Adwvisory Committees
(D) Recall

Choose the most appropriate answer from the options given below :

f o s -~ b
TETHEA 91 AT 97 ] THEATE :—”‘

(A) e
(B) =T

(C)  Tm=Fr g
(D)  TEER ()

U T TRl W W W 39 I =0 A

[Question ID = 784][Question Description = 159_14_Public_Admin_0CT22_Q59]
. ABCD

A BC.D
[Option ID = 3133]
2. B, C.DOnly
FA9B.C.D
[Option ID = 3134]
3. A B.COnly
= A, B. C
[Option ID = 3135]
4. A B.D Only
FEFABD

[Option ID = 3136]

60) Which of the follewing influence Public Policy making?

{A) Lobbying

(B) Social Media

(C)  Think Tanks

(D) Public Interest Groups

Choose the correct answer from the options given below ;



fefatga @ & = A < Aid [ 1 TEE F a0

(A) =i
(B) = HitEE
) FE=dm

(D) = T

fom T T 8 O g IEE T =9 Fian:

[Question ID = 785][Question Description = 160_14_Public_Admin_0CT22_Q60]
. A B.COnly

Fa9 A.B. C

[Option ID = 3137]
2. B.C,DOnly

FT5 B.C. D

[Option ID = 3138]
3. A C.DOnly

FaA A, C.D

[Option ID = 3139]
4 ABCD

ABCD

[Option ID = 3140]

61)  Which of the following factors has resulted in a major shift in the study of Public Policy?
(A)  Eeynesian Economic Theory
{B) Organisationas artifacts

(C) Neo-Liberal Pholozophy

(D)  Development of concepts and theories in Public Policy

Cheose the correct answer from the opticns given below :

f=ifeifaa & @ 7 =% F #vw =% Ail7 F e § g aieE gan 27

(A FATEA T fﬂq,id
(B)  I9F9 % =9 H HAA
(C)  F3-3%F BEiaFar

(D) % A0 B AT HE EEE

Tau T Tl © | 9E 39 W 999 i

[Question ID = 786][Question Description = 161_14_Public_Admin_0OCT22_Q61]
1. A BOnly
== A. B

[Option ID = 3141]
2. A COnly

FETAC



3.

4.

[Option ID = 3142]
A D Only
FEAAD

[Option ID = 3143]
ABCD

AB GCD

[Option ID = 3144]

62)  The limit of probability sample 1= :

(A) It 1= not giving guraniee of representativeness of the sample fir'om a population
{B) The data do not fulfil the standards of normal Probability curve,
(C) It has great risk of generalization of the resulis.

(D) It helps In draw of general conclusions.

Choose the most appropricate answer from the options given below :
-r | & ﬂJr ﬁ o~ %'
(A) U SHEE F WiEGE W WAt e F e A ad Rl
(C) 9RO F =R W AU 9E S AhEs 919

(D) =% |4EFE e R | SR R

Tom o Taredt B | wEE 39gT I =S5 R

[Question ID = 787][Question Description = 162_14_Public_Admin_0OCT22_Q62]

1.

2.

3.

4.

A B. C Only

Fa9 A B. C

[Option ID = 3145]
A. C.D Only

a1 A C.D

[Option ID = 3146]
A B.D Only

a7 A.B.D

[Option ID = 3147]
B. C. D Only

Fa5 B. C. D

[Option ID = 3148]



63)

Which of the following are commonly referred to as measures of dispersion?

(A)
(B)
(C)
(D)

Range

Mode

Quartile Dewnation
Arithemetic Mean

Choose the most appropriate answer from the options given below :

fetatEs © 9 9 ae: 39 51 99 F8 T 27

(A)
(B
(C)
(D)

.

qRE

ERCER T

AT T

fou 70 {aeql 5§ e 39T I F T4 Fra:

[Question ID = 788][Question Description = 163_14_Public_Admin_0CT22_Q63]
1. A &BOnly

e A #T B

[Option ID = 3149]
2. A C&DOnly

Fad A, C AT D

[Option ID = 3150]
3. B&D Only

Fa4 B w7 D

[Option ID = 3151]
4 A& COnly

FaA AT C

[Option ID = 3152]

64)

Which of the following are the feature of Snowball Sampling?

(A)
(B)
(C)
(D)

It 1= non-probability samphng
Members of Population’ have an equal chance of being selected for the study,
It adopts the chain referral process,

Sampling error can be quickly determined.

Choose the most appropriate answer from the options given below :



TreAtetaa # @ = w AT (W) A A AE R

(A) = FEEEE A 2

B =m aere B e & e oft T & e & e e awe e
(C) =z Al e W F1 T A 2

D) et A T w F I .

fon v fahe ] B | HEH 39T ST D 99 i

[Question ID = 789][Question Description = 164_14_Public_Admin_OCT22_Qé64]
. A B. COnly
FaT A B, C
[Option ID = 3153]
. B, C.DOnly
Fa9B. C. D
[Option ID = 3154]
3. B.D Only
F49B. D
[Option ID = 3155]
4 A C Only
Fad A, C

[Option ID = 3156]

65) ‘Which of the following statements are not correct regarding Social Welfare Administration?

(A) Promotion on full participation and egquality of people with disabilities in Asia and
Pacific Region adopted in May, 2008,

(B) ©Ministry of Social and woman Welfare has been renamed as Ministryv of Social Justice
and Emplovinent in 1998,

(C) The Subject of Disability is enshrined in Vth Schedule of constitution.
(D)  The caste Cenzus in India has been discontinued from 1990

Choose the correct answer from the options given helow :
AT F=A0TFR] T9EA F J69 § HEEnad 5 ° 54 0 99 525 965 7
(A) TR S0 WA @ F 93 2008 ° T R S0 9w Sl o g A =

[

(B) a4 w0 HiweT Wg g aehat F1 AW 1998 § RS ATE HiEe AsH TS UeiEie § see

e T 2
(C)  Hfaaw ¥ Vai starm w1 faw fowran (sm) 3

(DY 1990 I F1T8 = WHW T TH0ET F TETH F 153 T 2

T T e | O WA 39 I W 999 i

[Question ID = 790][Question Description = 165_14_Public_Admin_0OCT22_Q65]
1. B.D Only

== B.D

[Option ID = 3157]



2. A COnly

Fa+ A, C

[Option ID = 3158]
3. B.C.D Only

Fa=B.C. D

[Option ID = 3159]
4 A C.DOnly

Faa A, C.D

[Option ID = 3160]

66) Natch List I with List IT :

List 1
Thinkers
{A)  Mary Parker Follett
(B} Luther Gulick
(C)  Chester I Barnard
(D) Herbert Simon

List 1T
Books
(In' Zone of Indifference
(I} Zone of Acceptance
(ITT) Depersonalising Order
(IV) Bases of Departmentalisation

Choose the corrvect answer from the options given below :

FEi-1% @19 F1 gei-11 e Fia

(A)
(B)
(©)
(D)

H=1 feu o Tamedl 8§ T30 35 #1599 i ;

11
T T

=EZ OTEEA

() v = &3

(I) w=rrrEaT =1 &=

() F=rfmm Ses F 9w W
(IV) Tarapimem

[Question ID = 791][Question Description = 166_14_Public_Admin_0OCT22_Q66]

1. (A, (B)-(IID). (C)-(IV). (D)1

[Option ID = 3161]

2. (AIOD. (B)-(IV). (C)-(I), (D)-(I0)

[Option ID = 3162]

3. (A)ID), (B)-(IID. (Ci-(D), (DH«(TV)

[Option ID = 3163]

4 (AIV). (BT (O)-(ID), (D)-(IID

[Option ID = 3164]



67) Match List I with List IT

Fefi- 1% | w1 gei- 11 e il

(A)
(B)
(C)
(D)

b1 e L = 2 e (o e e £ s e o o 3 1

(A)

(B)
()
(D)

TastI
Writers
Woodreow Wilson

W. F. Willoughby
Henii Fayol
Gulick & Urwick

List H
Books

(Ii. The papers on the Science

Administration

(I} Industrial and General Management

(ITI} The Study of Administration
(IV) Principles of Administration

Choose the correct answer from the options given below :

Ti-1I
(I) = U9H S AEE T TSI
() 3= i 5 T9ame
(IlT) = === A% USHE2IH

[Question ID = 792][Question Description = 167_14_Public_Admin_0CT22_Q67]

1. (A)D), (B)-(III), (C)-(IV). (Dy-(II)

[Option ID = 3165]

2. (AWIV). (ByID), (C)«(Iy. (D)-IID

[Option ID = 3166]

30 (ALY, (B)-(IV). (C)-(ID). (D)-(T)

[Option ID = 3167]

4 (A)-(ID). (BI-(II). (C)-(T). (DH-(IV)

[Option ID = 3168]

68)  Nlatch List T with List II -

(A)
(B)
(C)
(D)

ListI
Thinkers
Veblen
Victor Thompson
Dewey
F. W. Rigos

List II
Termes uszed for bureaucracy
(I Bureau —rationality
(I} Occupational Psychosis
(IIT) Bureau— Pathology
(IV) Trained incapacity

Choose the correct answer from the options given below :



-1 % arg w1 gHA-11 e it

T L
fommes AR F T T w2 s
(&) T (I =7 gwEmaa
(B) Tawer ame (IT) == ST
(€ T (IIT) =71 ~ Tl =
(D) TF =g T (IV) =Eme | aeas

S feu T G § H 98 = % 994 S

[Question ID = 793][Question Description = 168_14_Public_Admin_0OCT22_Q68]
1. (A, (B)-(II), (C)-(D). (D)-(IV)

[Option ID = 3169]
2. {(Ax(IV), (B)-(IIL). (C)-(ID), (D)-(I)

[Option ID = 3170]
3. {A)(ID), (By-(I), (C)-(III), (D)-(IV)

[Option ID = 3171]
4. (AN, (B)-IV). (C)«(IL), (D)-(III)

[Option ID = 3172]

69)  Match List I with List IT :
List I List IT
List No. of Subjects
(A) TUmon List (Il Originally 66 Subjects
{B) State List (originally) (IT) Presently 98 Subjects
() State list (ITIT} Presently 59 Subjects
(D) Conecurrent list iIV) Presently 52 Subjects

Choose the correct answer from the options given below :

THI-1F = 1 gEI-11 e e

11 11T
(A) o= (I) g=iw 66 fomm
(B) == g (g ) (I === 5 o w3
(C) T3 g (=eme H) (IIT) F79 3 59 997
(D) TEEdr g (IV) 7799 32 =59

e Tt 1 = e = = e = s i e o - 3 1

[Question ID = 794][Question Description = 169_14_Public_Admin_OCT22_Q69]
T {A)I). (Bi-ID). (C)-(I1I). (D)-(IV)

[Option ID = 3173]

2. (AID, (B)-AD), (C)-(I01), (D)-(IV)
[Option ID = 3174]

300 (ALY, (B)(IV). (C)-(ID), (D))



[Option ID = 3175]
4 ATV, (B)-(ITII). (C)-(IT), (D)-(I)

[Option ID = 3176]

70)  Match List T with List I1 :

List I List II

Position Funetions
(A) High Diwan (I  EReligions endowment & Charity
(B) Chief Sadar (ITy Public Morals
(C)  AMuhtasib (IIT) The Exchequer and Revenue.
(D) Imperal Bakshi (IV) Aihitary Aecounts

Choose the correct answer from the options given below :

-1 % |y 1 gEi-11 A Fi

e -1 =4 -1
(&) 7 e (I) o Mg 3 W
(B) w7 Hr (II) == AT
(C) graTER (IIL) Tk 3 T
(D) oAt = (IV) #FF @
1 B (U & et e B e e T e o e ) L

[Question ID = 795][Question Description = 170_14_Public_Admin_0OCT22_Q70]
1. (A, (B)-(ID), (C)-(I1D). (D)-(IV)

[Option ID = 3177]
2. (A(IIL), (B)-(I). (C)-(ID), (D)-(IV)

[Option ID = 3178]
3. (AN, (B)-(I1), (C)-(IV). (D)-(T)

[Option ID = 3179]
4 (AT, (BY-(IV), (C)-(IIT), (D)-1IT)

[Option ID = 3180]

1) Mateh List T with List 1T :
List I List 11
Models / concepts Characteristics
(A) Agraria (I}  Discrepency between norms and values
{B) Transita {II) High Level of Structural differentation
(C) Formalism (III) Traditional Asmeultural Society
(D) Daffracted Society (IV) Transitional from Agriculture to Industry

Choose the correct answer from the options given helow :



T=-1 % @9 %1 ge-11 e i

(A)
(B)
(C)
(D)

9 7o 0 faweTl § | O =9 & 994 FIEw

=11

[ i ¥
[‘.

| sTaEm

ZIHTEET

I

= ML

() ieAmH SR g § wEE

(II)  Hr=ATa S 1 3= =0

(IIT) vt FdmE 7o
(IV) &g 7 Z= i 530 90w

[Question ID = 796][Question Description = 171_14_Public_Admin_0OCT22_Q71]
T (A)(IT). (B)-(T). (C)-(TID), (D)-(IV)

[Option ID = 3181]
2. (AT, (B)-(I), (C)-(ITT). (D)-(IV)

[Option ID = 3182]
3. (A)-IV). (B)-IID. (C)-(ID). (D)-(I)

[Option ID = 3183]
4 (A)-IID. {B)-(IV). (C-(I). (D)-(ID)

[Option ID = 3184]

72)

Match Tast T with List I :

(A)

(B)

(C)

(D)

List I

Principles of Budget
Rule of Lapse
Accuracy

Annualiy

Clarmty & Transparency

(I

(1T}

(IV)

List IT

Features

Varations hetween Budgetary
estimate and actuals to be minimum
and precize.

Budget should be open & esasyv to
understand

Unspent money cant be carred
forward

Budget preparations for Finaneial
Year

Choose the correct answer from the options given below :



[

FH1-15 F19 F1 gei-11 5 Fifan

eI -1
(A) THaw wmie #1 =8 (I) =92 F FAAA A AvEEEa 3 g
AT R a9 (Uiegg) 7 A
(B) itz (T) =2 9 3% S7EE 3 aug § A9 T A
(C) = (II0) Tm7 == = 747 Tt R s Aa o
(D) THEEH ST TEEE av) fadm a4 % fow a9z Hi a1

43 fom o T A W =E I W = i
[Question ID = 797][Question Description = 172_14_Public_Admin_0CT22_Q72]
T (A)(D), (B)-(IT). (C)-(IIT), (D)-(IV)

[Option ID = 3185]
2. (AWIID, (B)-(D). (C)-(IV), (D)-(IT)

[Option ID = 3186]
3. (AL (B)-{Dy (C)-(IV). (D)(IID)

[Option ID = 3187]
4. (A)(ID. (B)-IID. (C)-iIV), (D)D)

[Option ID = 3188]

73)  Mateh List T with List T1 -

IistI Tast I

Forms for organizing PEs Characterstic
{4) Department Undertaking (I} Separate Legal entity
(B} Public Corporation (I} Body Corporate
{C) Government Company (IIT) Government Rules
(D) Holdineg Company (IV) Umnformity in Policies

Choose the correct answer from the options given below :

IEA1-1 % =y 1 g=i-10 e i

11 T 1T
PE #l 5EA T4 F T fafrean (svem)
(A) T=aTiE 39 () fﬁﬁ“’ﬂ’!‘ﬁﬂﬁl
(B) =F T T Fmife Frem
(C)  HFHT FAl (IIT) ==t
(D) gF FEE (IV) e =1 e
i fou e Twew 9 o 3 w0 o9Ee Fibw

[Question ID = 798][Question Description = 173_14_Public_Admin_0CT22_Q73]
T (A, (B)-(IT). (C)-(IID). (DY~(IV)

[Option ID = 3189]



2. (AL, (B)-(IV). (O)-D). (D)-(IT)

[Option ID = 3190]
3. (A, (B)-I), (C)«II), (D)-{IV)

[Option ID = 3191]
4. (A)IID, (B)-(OIV), (C)-(IT). (D)-(D

[Option ID = 3192]

74)  Natch List T with List IT :

ListI ListII
Name of Commission Year

{A) National Commussion for Backward (I) 2004
Castes

(B) National Commission for Seheduled (II) 1994
Castes

{C) National Comnussion for Safai (III) 1978
Karmachari

(D) National Commiszion for Scheduled (IV) 1993
Tribes

Cheose the correct answer from the options given helow :

-1 =19 1 =11 1o e

=1 T

FHEIE F1 91 B
(A) TEE TS S TE Iy 2004
(B) T¥@ EgEE HiE A (I) 1994
(C) T HETE wEEE A (D) 1978
(D) T FAEET FAAE A (IV) 10993

B R e e el i s e o - o e 1 L
[Question ID = 799][Question Description = 174_14_Public_Admin_0CT22_Q74]
T (A)IV). (B)-(I), (C)-(IT). (D)-(I1I)

[Option ID = 3193]
2. (A){III) (B)-(II). (CH-(IV), (D)D)

[Option ID = 3194]
3. (A)-IV), (By-(IOD). ( C)-(II), (D)-(I)

[Option ID = 3195]
4 (A)-(IT). (BY-(IV). (C)-(I1T), (D)-(D)

[Option ID = 3196]



75)  Match List T with List IT :

LastI Tist I

{4) Pradhan Mantm Surakshit Matritva (D) 2021

{(B) Avushman Bharat Digital Mission (IIy 1982
(C) National Mental Health Miszion (IIT) 2014
{D) Assion Indradhanush (IV) 20186

Choose the correct answer from the options given below

-1 % w1 g=I-11 faem Hifaw

A1 THI-1T
(A) W T@EET T @ 2021
(B) ¥R A f=taee e any 1982
(C)  TTEE g A W (III) 2014
(D) zzETd = (IV) 2016

1 Ton T e § O T I 5 = i

[Question ID = 800][Question Description = 175_14_Public_Admin_0OCT22_Q75]
T (A)D. (B)(IL). (C)-(III). (D)-(IV)

[Option ID = 3197]
2. (A)AID). (B)-(IID. (C)-(IV). (DH-(D)

[Option ID = 3198]
30 (A, (B)«(IV), (Cy-(IL). (DD

[Option ID = 3199]
4 (A -(IV), (Bi-(D. (C)-(II). (D)-(IIT)

[Option ID = 3200]

76) Which of the following books are written by Robert Golembiewski

(A) Men, Management and Morality
(B Ironies of Organizational Development
(Cy Hand book of Organizational Behaviour

(D)  Encyclopedia of Policy studies.

Choose the correct answer from the options given below :



T

(C) =% AT AN ST
(D)  THAAEEATGEA 3T GieAl 25
Jr= fom o e | 1 o I = A

[Question ID = 801][Question Description = 176_14_Public_Admin_0CT22_Q76]
1. {A) (B). (C).

[Option ID = 3201]
2. (A). (B, (D).

[Option ID = 3202]
3 (A (G (D).

[Option ID = 3203]
4. (B). (C). (D)

[Option ID = 3204]
77) _Arrange the following positions in the ascending order of hierarchy,

(4 Joimnt Secretary

(B) Additional Secretary
(C) Director

(D) Under Secretary

Choose the correct answer from the options given below :

F=feiEs o= %1 9 5aE F ATE %e ° g

(Ay  FET AR
(B)  wiEeT T=E
(C) ELs

(D) =T EEE
41 Tar T e § 0 W 39 =Ee A

[Question ID = 802][Question Description = 177_14_Public_Admin_0OCT22_Q77]
. D.CAB
[Option ID = 3205]
Z D.B.AC
[Option ID = 3206]
3. AC.B.D

[Option ID = 3207]
4 A B.C.D



[Option ID = 3208]
78)  Arrange the following Governor-General of India in Chronologieal order.

(&) Lerd Dalhousie
(B) William Bentincl
(&) Lord Chelmsford

(D)  Lord Curzon

Choose the corrvect answer from the options given below :

TG WA T A S FEEEE 5 e

(&) = T
(B) Tafeem sfzwa
(C) IS IHHiE
D) = FA

Bl L ot IRl f = e e 0 Bk B 1

[Question ID = 803][Question Description = 178_14_Public_Admin_0OCT22_Q78]
. ABCD

[Option ID = 3209]
2. ACBD

[Option ID = 3210]
. BADC

[Option ID = 3211]
4 B.D.AC

[Option ID = 3212]

79)  Arranse the following in sequence in Research process

(A) Research Questions
B) Hypothesis

() Data collection

(D) Literature Review

(E) Further scope of study

Choose the correct answer from the options given below :



frertertiga =1 a4 Tl TG SEEA | satem e [0 ]

(A) g =F T

(B) ]

(C) =TSl = TUEw

(D) =TT I

(E)  o7%999 1 9ig= § faan

43 fon o fawedl B | W I F == A

[Question ID = 804][Question Description = 179_14_Public_Admin_0OCT22_Q79]
. ABDED

[Option ID = 3213]
2 D,B.ACE

[Option ID = 3214]
. DLABEC

[Option ID = 3215]
4 ADBCE

[Option ID = 3216]

80) Arrange the following in correct sequence
(A) Mayve's Resolution
(B) Montegu's Declaration.
(C) Rippon's Resolution

(D)  Roval Commission on Decentralization.

Choose the correct answer from the options gix-'en helow :
FTETET TR SEN § AT S
(A) =1 F1 T
(B)y  mwzeg 1 g

(C)y  Ta9 =1 9%

(D)  TEEEETET W TS S

E i B EI U o e o 1A= = o 3 e ) e P e 1 L
[Question ID = 805][Question Description = 180_14_Public_Admin_0OCT22_Q80]
1. ADB¢C
[Option ID = 3217]
2. B.C.AD
[Option ID = 3218]
3. ACDB



[Option ID = 3219]
4 C.ABD

[Option ID = 3220]

81) Consider the following techniques of Union Control aver States.

(A)
(B)
()

(D)

Power to appoint and dismiss the Governor,
Previous Sanction for introducing certain bills in state assembly.

Directions given by Union to State Governments.

Formulation of Inter State Council

Choose the correct answer from the options given below :

(A) T A s s e

(B) T faam =91 8 3 fau=ei 1 991 FA F o gh =i

(C) =89 TTFE g 7754 HERRl F [ea

(D) AT =9 9iEg T

i BT = o o =S = s L B 2 |

[Question ID = 806][Question Description = 181_14_Public_Admin_0OCT22_Q81]
. ABCD

[Option ID = 3221]

2. ABC

[Option ID = 3222]

3. B.C.D

[Option ID = 3223]

4 ACD

[Option ID = 3224]

82)

LA
(B)
(C)

I

Arrange the following budgetary process in the correct Sequence

Voting on Demands for Grants
Passing of appropriation Bill
Passing of Financial Bill

Serutiny by Departmental related Budget Commitiee

Choose the correct answer from the options given helow :



ATl S9409 UGEAT 6 951 H5 § =gaie Hiav]

(&) FEE HOEET ® T B
By Tafmr fgEs ot =
(C) &= fau=s wiE w0

(D) Tagrim g= faw S oo s3gm

= f20 U e B W OWE I S 99 SR

[Question ID = 807][Question Description = 182_14_Public_Admin_0OCT22_Q82]
. ABCD

[Option ID = 3225]
2. D.ABC

[Option ID = 3226]
3. B.AC.D

[Option ID = 3227]
4 B.AD.C

[Option ID = 3228]

83) Ayrange the following Public Policy making models in correct sequence :

{A) Rational Choice — Public Cholce model
(B) Techonology Assezsment model
{C) Incremental Pohiey malking

(D) Deszign for Pohey Sciences

Choose the corrvect answer from the options given below :

TreTieiEs = i A SIS/ WA %E S e
(A)  FHEETE FEAfAEEe o S =99 TEY

(B) TR AT TR
(C)  TEeETEs Hie FEm

(D) =7 = w5 oWEy

4= 50 v EEeT § 9 "5 3T F 99 S
[Question ID = 808][Question Description = 183_14_Public_Admin_OCT22_Q83]
T ABGD

[Option ID = 3229]
2. B.ACD

[Option ID = 3230]



3. €.B.AD

[Option ID = 3231]
4 C.AD.B

[Option ID = 3232]
84)  Ampange the following ‘Cognitive levels' in Descending order
(A) Creating
(B) Analvsing
(C) Evaluating
(D) Applying

Choose the correct answer from the options given below

AT SEaMIcaF 0 F1 Fa90e] 0 8 saa S

(A) T A
(B) favemm w1

(C)  Hearh

(D) ST FAT

419 fau 7 faweal § O 54 39 9 == Fia

[Question ID = 809][Question Description = 184_14_Public_Admin_OCT22_Q84]
. ABCD

[Option ID = 3233]
2 A CB.D

[Option ID = 3234]
3. D.C.A.B

[Option ID = 3235]
4 B.ACD

[Option ID = 3236]

85) Arrange the following steps of Research proposal 1s a Sequential crder

{A) Problem Statement

(B) Hypothesis

(C) Context

{D) Sienificance of the Study
(E) Technigues

Choose the correct answer from the options given below



7MY AT & HAeErET =i F A #0 T =gateas Fiaw

(A)
(B)
(C)
(D)
(E)

4=

HALGIT T A

AFATFR AN

50 79 FFeT § 9 T 30 1 999 F0a0

[Question ID = 810][Question Description = 185_14_Public_Admin_0OCT22_Q85]

1. B.

AECD

[Option ID = 3237]
2. A CBDE

[Option ID = 3238]

3. €¢.B.A.E.D
[Option ID = 3239]
4 DABCE

[Option ID = 3240]

86) @iven below are two statemerits : One is labeled as assertion A and the other is labeled as
Reason R
Assertion A : Weber treated adnunistrative svstems as ‘Steady State Svstem’.
Reason R :  The bureaucratic model is more approprative for a prismatic system
than diffracted Society.

In the light of the above statements. choose the most appropriate answer from the options
ziven below :

3= w1 FO BU U E R AF (Assertion (A)) F =9 T fHREA 2 A1 70 30F F0 (Reasons (R))

FEIH ;

AL (A) - 5 C T =1 2 ol o 2 M = N e ) | ot MR . s

F1r (R) I WEY TE=iaa TuTs 1 FE S (e e #
IO FUH FOAEE °, 99 50 T ST § § geE IS 35 H =954 Hian

[Question ID = 811][Question Description = 186_14_Public_Admin_0OCT22_Q86]

1. Both A and R are correct and R is the correct explanation of A

(A) 31 (R 591 =21 £ 391 (R), (A) i o =men 2

[Option ID = 3241]



2. Both A and R are correct but R is NOT the correct explanation of A

(A) #7 (R) 51 741 2, =% (R), (A) =1 &7 =2ws 45 2

[Option ID = 3242]
3. A s correct but R is not correct

(A) =51 &, =% (R) 75 991 =

[Option ID = 3243]
4. A 1= not corvect but R is correct

(A) 77 571 2, =i (R) o7 7

[Option ID = 3244]

87) Given below ave two statements : One 1= labelled as Assertion A and the other 1= labelled as

Reason R.

Assertion (4):  Weber's Pureaucratic model 1= efficient when the organization deals
primarily with Uniform events,

Reazonz (R) : Weher's Bureaucratic model doesn't encompass the ‘overlapping’ and

“Heterogeneous” structure in developing Societies.
In the light of the above statements, choose the correct answer from the options given helow |

5= 71 w99 50 e E v 99FeE (Assertion (A)) % =9 § f@hEE ¢ A TE 3T # &0 (Reasons (R))

FETH
AT (A) 5T A TEY GAH A WS EE G E W THE S A e a
T (R) : FEL F AR WY BEEEEiie @A B OTeR SEW Wi 99E m B it/

I 99 F W H, 99w T e § o Se 39 6 96 i

[Question ID = 812][Question Description = 187_14_Public_Admin_0CT22_Q87]
. Both A and R are true and R is the correct explanation of A

(A) 57 (B) = a3 7 #0 (R). (A Frofi =m=n 2

[Option ID = 3245]
2. PBoth A and R are true but R is NOT the correct explanation of A
(A) #T (R) 5F1 w09 = weka (R). (A) =1 5151 =awe =41 7
[Option ID = 3246]
3. Ajistrue but B 1s false
(A) 7T ® T (R) 39 2
[Option ID = 3247]
4. Ajis false but R 1s true

(A) 5T £ 99 (R) 9 7



[Option ID = 3248]

88)

Given below are two statements : One 1= labelled s Assertion A and the other iz labelled as

Reason R,
Assertion (A):  Treditional approaches to comparative Studies in administration focuses on
nstitution, procedures & functions.
Heasons (R): Contemporary Studiss on Governance & administration focuses more on

Dynamic than on Static Structure

In the light of the above statements. choose the correct answer from the options given helow :

A 71 9 0 T F ; w siuwe (Assertion (A) F ¥ ¥ fAlEa 2 A1 @9 3 F00 (Reasons (R))

Al (A) : T AR SEAEA & WIS 9P G, UEEl S0 TRE @ R AT
= (R) : I HT GETET G GEETA A TET AT i a9 WA 9 S S e

I T AR °, A= 5 T fawew 5 | W 3ae o w9 i

[Question ID = 813][Question Description = 188_14_Public_Admin_OCT22_Q88]

1.

Both A and R are true and R 1z the correct explanation of A

(A) 317 (R) =/ &3 2 3317 (B, (A) =1 o1 =3 3

[Option ID = 3249]

2.

Both A and R are true but R 1= NOT the correct explanation of A

(A} 377 (R) Z41 773 7 =1 (RB). (A) &1 71 =m=aT =51 7

[Option ID = 3250]
3. Aistruébut B is false

(A)TT 2 9T (R) 39 2

[Option ID = 3251]
4. A s false but R 1= true

(A) FEF 2 w5 (R) T7F 2

[Option ID = 3252]

89)

(riven helow are two statements : One 1s labelled as Assertion A and the other iz labelled as
Reason R.

Asgertion (A) ; Promotion has wider implications than advancement.

Reaszsons (R) : Advancement involves only an increase 1n pay.

In the light of the above statements. choose the correct answer from the eptions given below :



4 5 e Brom # v e (Assertion (A)) F =9 W A & Al =T =% #A7 (Reasons (R))

ATHFEF (A) : D 1 IR T B o (e | o et e o g
7 (R) | Tt e 9 3tg | w3

TEE HEE F AR H, 49 750 T [T § 5 W 3w 994 A

[Question ID = 814][Question Description = 189_14_Public_Admin_0OCT22_Q89]
1. PBoth A and R are true and R is the correct explanation of A
(A) =7 (R) =F1 57 2 #11 (R). (A) 1 581 =z 2
[Option ID = 3253]
2. PBoth A and R are true but R 1= NOT the correct explanation of A
(A) A7 (R) TF1 93 F =i (R). (A) i =1 = 94 7

[Option ID = 3254]
3. Adstrue but R is false

(A) @ 2 A (R) 9393 2

[Option ID = 3255]
4. Aisfalse but R is trae

(A) 3797 2 T (R) 99 2

[Option ID = 3256]

90) Given below are two statements : One iz labelled as Assertion A and the other iz labelled asz
Reaszon R.
Assertion (A) : Based on the bureaucratic and Post-Fordist notion of organization new local
governance encourazed net working and nezotiation over formalism.
Reasons (R) : In new local governance., institutions are viewed as the centre of

development,

In the Light of the above statements, choose the correct answer from the options given below :

49 91 R U T E : wR A9 (Assertion (A) % #W 1 fafgA 2 7 790 39F #00 (Reasons (R))

A (A) TaT T AFITE ST S Giedel 9RO % ATEE 9 9 SO IEE wean i sae
1 (R) : T9 THEE WEA 9, TR F =EE F g 9 A A

TEIF TYF F A °, A4 50 e § g HE I o 99 i

[Question ID = 815][Question Description = 190_14_Public_Admin_0CT22_Q90]

- Both A and R are true and R is the correct explanation of A

(A) 4R (BR) 5F1 weg = 3717 (R), (A) =1 93] == 2



2.

3.

4.

[Option ID = 3257]

Both A and R are true but R 12 NOT the correct explanation of A

(A) #17 (R) 51 #1037 719 (R). (A) =il 771 =Iwem 77 7

[Option ID = 3258]
A 1s true but R is false

(A) w7 £ @ (R) 590 2

[Option ID = 3259]

A s false but Ris true

(A) 375 2 i (R) 79 3

[Option ID = 3260]

Topic:- 14_PARTB_S1

1)

Read the following passage carefully: and answer questions:

From the early 1900s. Follett was a very active social worker in Roxbuwry and she made a
name for herself working with community pregrams. Follett's mtimate knowledge of the
economic. social and political problems faced by Roxbury s immigrant residents forced her to
establish an organization called the Highland Union i 1902, Follett continued her
community work after being elected chairperson of the Women's Municipal League's
Committee on "Extended Use of School Buildings” m 1908. From 1909, Follett spent more
than a decade working for the Women's Municipal League of Boston, As Follett's leadership
in commumty centres received national acclaim. she accepted the position of Vice-President of
the Natioal Community Centre Association in 1917,

She synthesized the dynamics of the interactions she observed within the community in her
boole. The New State. which was published in 1918. Due to its multi-disciplinary perspective.
the book drew attention from scholars in political scienee. philosophy. and sociclogy. From the
early 1920s. Follett started thinking about management and adminiztration in industry and
public institutions: this eventually led te her book. Creative Experience in 1924, which helped
explain her popularity as a speaker to business organizations and secured her reputation as a
ploneering management theorisi. Her philosophical and political views clearly explain her
ideas on orgamzations dynamics. In 1925. Follett well respected for her intellect and
foresight. was invited to speak at the Executive Conference Group by the Bureau of Personnel
Administration and she continued to give lectures for several vears thereafter, focusing on
leadership. control. authority and conflict between individuals and groups. Follett
demonstrated a eontribution that reached from Government to private industry and blended
“the scientific management and human relations approaches to management”.

Follett felt the field of human relations is richer for its multiple sources of insights and
sensitivity to the interactive effects of law and lezal institutions with other social institutions.
She believed that Integration was the core skill. that the measure of a manager or leader iz
how much difference they can integrate. Follett said that a skilful leader does not only relv on
personal force: he controls his group not by dominating it. hut by expressing it. Moreover.
Follett felt that integrating difference generates a certain kind of sustainable power, and 1t
requires practice and skill. Follett and Mayo had met twice in the US at her Syracuse lectures
and once at Harvard. Mavo acknowledged that he had not previously considered whether this
integrative unity was an lmportant conception in comparing one sclentific research. or one
part of human knowledge with ancther. In her 1926 lecture, Follett took as her subject the
tvpe of administrative leadership demanded bv the present development of business
management.
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Which one of the following pairs is not correctly matched?
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[Question ID = 816][Question Description = 191_14_Public_Admin_0CT22_Q91]

1.

2.

3.

4.

High Land Union — A 1902

TrEEE I — A 1902

[Option ID = 3261]
New State — B 1925

= =7 - B 1925

[Option ID = 3262]
Admimstrative Leadership — C 1926

etz weem — C 1926

[Option ID = 3263]
Creative experience — D 1924
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Tnfea veadifom — D 1024

[Option ID = 3264]

Read the following passage carefully; and answer questions;

From the early 1900s. Follett was a very active social worker in Roxbwry and she made a
name for herself working with community pregrams. Follett's intimate knowledge of the
economic. apcial and political problems faced by Roxbury s immigrant residents forced her to
establish an organization called the Highland Union m 1802, Follett continued her
community work after being elected chairperson of the Women's Mumicipal League's
Cemmittee on "Extended Use of School Buildings” in 1908. From 1909, Follett spent more
than a decade working for the Women's Municipal League of Boston, As Follett's leadership
1n commumty eentres received national acclaim, she accepted the position of Vice-President of
the Natioal Community Centre Association in 1917.

She synthesized the dynamics of the interactions she observed within the community in her
boole. The New State. which was publizshed in 1918, Due to its multl-disciplinary perspective.
the book drew attention from scholars in political science, philozaphy, and =ociclogy, From the
early 1920s. Follett started thinking about management and administration in industry and
public institutions: this eventually led to her book. Creative Experience in 1924, which helped
explain her popularity as a speaker to business organizations and secured her reputation as a
ploneering management theorist. Her philosophical and political views clearly explain her
ideas on orgamzations dynamics. In 1925. Follett well respected for her intellect and
foresight. was invited to speak at the Executive Conference Group by the Bureau of Personnel

Administration and she continued to give lectures for several vears thereafter, focusing on

leadership. control. authority and conflict between individuals and groups. Follett
demonstrated a contribution that reached from Government to private industry and blended
“the seientific management and human relations approaches to management”.

Follett felt the field of human relations i= richer for its multiple sources of insights and
sensitivity to the interactive effects of law and lezal institutions with other social institutions.
She believed that Integration was the core skill, that the measure of a manager or leader 1s
how much difference they can integrate. Follett said that a skalful leader does not only rely on
personal force: he controls his group not by dominating it. hut by expressing it. Moreover.
Follett felt that integrating difference generates a certain kind of sustainable power, and 1t
requires practice and skill. Follett and Mayvo had met twice in the US at her Syracuse lectures
and once at Harvard. Mavo acknowledzed that he had not previously considered whether this
integrative unity was an lmportant conceptlon 1n comparing one scientific research. or one
part of human knowledge with another. In her 1926 lecture, Follett took as her subject the
type of administrative leadership demanded by the present development of business
management.
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Follett felt that integrating difference generates a certain kind of

[Question ID = 817][Question Description = 192_14_Public_Admin_0CT22_Q92]

1.

2.

3.

4.

Research on Human Enowledge

A T T e

[Option ID = 3265]
Conflicts between human beings

T % A HE
[Option ID = 3266]
A kind of sustainable power

[Option ID = 3267]
Help to improve relations with various organizations.
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[Option ID = 3268]

Read the following passage carefully: and answer questions:

From the early 1900s. Follett was a very active social worker in Roxbwry and she made a
name for herself worlang with community presrams. Follett's imtimate knowledze of the
economic. social and political problems faced by Roxbury's immigrant residents forced her to
establish an organization called the Highland Union in 1902, Follett continued her
community work after being elected chairperson of the Women's Municipal League's
Committee on "Extended Use of School Buildings” m 1908. From 1909. Follett spent more
than a decade working for the Women's Municipal League of Boston, As Follett's leadership
in commumty centres received national acclaim. she accepted the position of Vice-President of
the Natioal Community Centre Association in 1917,

Zhe synthesized the dynamics of the interactions she observed within the community in her
boolk. The New State. which was published in 1918. Due to its multi-disciplinary perspective.
the book drew attention from scholars in political scienece, philosophy. and =zociclogy. From the
early 1920s. Follett started thinking ahout management and administration in industry and
public ingtitutions: this eventually led to her hook. Creative Experience in 1924, which helped
explain her popularty as a speaker to business ergamzations and secured her reputation as a
pleneering management theorist. Her philosophical and political views clearly explain her
ideas on orgamzations dynamies. In 1925, Follett well respected for her intellect and
foresight. was invited to speak at the Executive Conference Group by the Bureau of Personnel
Administration and she continued to give lectures for several vears thereafter, focusing on
leadership. control. authority and conflict between individuals and groups. Fellett
demonstrated a eontribution that reached from Government to private industry and blended
“the sclentific management and human relations approaches to management”.

Follett felt the field of human velations iz richer for its multiple sources of insights and
sensitivity to the interactive effects of law and legal institutions with other social institutions.
She believed that Integration was the core skill. that the measzure of a manager or leader iz
how much difference they can integrate. Follett said that a skalful leader does not only relv on
perscnal force: he controls his group not by dominating it. but by expressing it. Moreover.
Follett felt that integrating difference generates a certain kind of sustainable power, and 1t
requires practice and skill. Follett and Mayo had met twice in the US at her Syracuse lectures
and once at Harvard. Mavo acknowledged that he had not previously considered whether this
integrative unity Was an lmportant conception 1n comparing one sclentific research. or one
part of human knowledge with ancther. In her 1926 lecture, Follett took as her subject the
type of administrative leadership demanded by the present development of business
management.
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Which one of the following 1= correct concerning Follett and Mayo interactions?
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[Question ID = 818][Question Description = 193_14_Public_Admin_0OCT22_Q93]

1.

2.

3.

4.

The measure of a manager or leader 1s how much difference theyv can integrate.

WEEF UG T OGS 7 1 9 A o v 7 a w

[Option ID = 3269]
Integrative unity was an important conception.

[Option ID = 3270]
Interactive effects of law and legal institutions with other social institutions.

[Option ID = 3271]

The Seientific management and human relations approaches to management,
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[Option ID = 3272]

Read the following passage carefully; and answer questions:

From the early 1900s. Follett was a very active social worker in Roxbwry and she made a
name for herself worlang with community programs. Follett's intimate knowledge of the
economic. aocial and political problems faced by Roxbury s immigrant residents forced her to
establish an organization called the Highland Union m 1802, Follett continued her
community work after being elected chairperson of the Women's Mumicipal League's
Cemmittee on "Extended Use of School Buildings” in 1908. From 1909, Follett spent more
than a decade working for the Women's Municipal League of Boston, As Follett's leadership
1n commumty eentres received national acclaim, she accepted the position of Vice-President of
the Natioal Community Centre Association in 1917.

She synthesized the dynamics of the interactions she observed within the community in her
boole. The New State. which was publizshed in 1918, Due to its multl-disciplinary perspective.
the book drew attention from scholars in political science, philozaphy, and =ociclogy, From the
early 1920s. Follett started thinking about management and administration in industry and
public institutions: this eventually led to her book. Creative Experience in 1924, which helped
explain her popularity as a speaker to business organizations and secured her reputation as a
ploneering management theorist. Her philosophical and political views clearly explain her
ideas on orgamzations dynamics. In 1925. Follett well respected for her intellect and
foresight. was invited to speak at the Executive Conference Group by the Bureau of Personnel

Administration and she continued to give lectures for several vears thereafter, focusing on

leadership. control. authority and conflict between individuals and groups. Follett
demonstrated a contribution that reached from Government to private industry and blended
“the seientific management and human relations approaches to management”.

Follett felt the field of human relations i= richer for its multiple sources of insights and
sensitivity to the interactive effects of law and lezal institutions with other social institutions.
She believed that Integration was the core skill, that the measure of a manager or leader 1s
how much difference they can integrate. Follett said that a skalful leader does not only rely on
personal force: he controls his group not by dominating it. hut by expressing it. Moreover.
Follett felt that integrating difference generates a certain kind of sustainable power, and 1t
requires practice and skill. Follett and Mayvo had met twice in the US at her Syracuse lectures
and once at Harvard. Mavo acknowledzed that he had not previously considered whether this
integrative unity was an lmportant conceptlon 1n comparing one scientific research. or one
part of human knowledge with another. In her 1926 lecture, Follett took as her subject the
type of administrative leadership demanded by the present development of business
management.
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Consider the following statements regarding Follett :

{A) A slallful leader does really on personal force
{B) Leader Control his group by not dominating
() Leader express his opinion

(D) Administrative leadership development from business dynamics.

Choose the correct answer from the options given below :
FIEZ F A0 § ey weE W EEE S

(1) o Fweg T 7= o W T |

2) o === T S aeE e e

(3) A1 W9 A F A HA A

(4)  SHIEIEE AEIEE T TOEEE A9 S|

Rl S T o e i o B e e P e 0 L

[Question ID = 819][Question Description = 194_14_Public_Admin_0OCT22_Q94]
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[Option ID = 3273]

A & C Only

e A #H C

[Option ID = 3274]
B & C Only

Fa9 B 57 C

[Option ID = 3275]
B.C &D Only

FaA B, C 3 D

[Option ID = 3276]

Read the following passage carefully: and answer questions:

From the early 1900z, Follett was a very aetive social warker in Roxbury and she made a
name for herself worlang with community pregrams. Follett's imtimate knowledgze of the
economic. social and political problems faced by Roxbury's immigrant residents forced her to
establish an organmization called the Highland Union i 1%02. Follett continued her
community work after being elected chairperson of the Women's Mumicipal League's
Committee on "Extended Use of School Buildings” m 1908. From 1909. Follett spent more
than a decade working for the Women's Municipal League of Boston, As Follett's leadership
in community centres received national acclaim. she accepted the position of Vice-President of
the Natioal Community Centre Assoclation in 1917.

Z8he synthesized the dynamics of the interactions she observed within the community in her
boole. The New State. which was published in 1918. Due to its multi-disciplinary perspective.
the book drew attention from scholars in political scienee, philosophy, and =ociology, From the
early 1920s. Follett started thinking about management and administration in industry and
public institutions: this eventually led to her hook. Creative Experience in 1924, which helped
explain her popularty as a speaker to business ergamzations and secured her reputation as a
pigneering management theorist. Her philosophical and political views clearly explain her
ideas on orgamzations dynamics. In 1925, Follett well respected for her intellect and
foresight. was invited to speak at the Executive Conference Group by the Bureau of Personnsl
Administration and she continued to give lectures for several vears thereafter, focusing on
leadership. control. authority and conflict between individuals and groups. Follett
demonstrated a eontribution that reached from Government to private industry and blended
“the scientific management and human relations approaches to management”.

Follett felt the field of human relations is richer for its multiple sources of insights and
sensitivity to the interactive effects of law and lezal institutions with other social institutions.
She believed that Integration was the core skill. that the measure of a manager or leader is
how much difference they can integrate. Follett said that a skilful leader does not only rely on
personal force: he controls his group not by dominating it. but by expressing it. Moreover.
Follett felt that integrating difference generates a certain kind of sustainable power, and 1t
requires practice and skill. Follett and Mayo had met twice in the US at her Syracuse lectures
and once at Harvard. Mavo acknowledeed that he had not previously considered whether this
integrative unity was an lmportant conceptlon 1n comparing one scientific research. or one
part of human knowledge with another. In her 1926 lecturs, Follett took as her subject the
type of administrative leadership demanded by the present development of business
management.
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Consider the following statements on Follett :

A,  She believed that integration was the core skill,

B. Fellett felt the field of human relations is mcher for 1tz multiple sources of msights,
C. Made a name for herself working with community programes at Boston
D

Follett and Mavo had met twice at Harvard.

Choose the correct answer from the options given helow :

HEE T 91§ a9 i

(1) =7 favam w0 i 5 v g@ Few o)

(2)  wieE 5 TEgE e T O T A T Seee & - Je o 190G 7
(3) SR H WS FEEA U HE A w0 = % 0 s T

(4)  HHEZ H{F 9N EEE 9 4 5 H 4|

fon v epeT § TR I = R



[Question ID = 820][Question Description = 195_14_Public_Admin_0CT22_Q95]
1. A B&COnly
Fad A. B, 37 C
[Option ID = 3277]
2. A C&DOnly
FaAACHD

[Option ID = 3278]
3 A B&D Only

Faa A B3 D

[Option ID = 3279]
4 A B.C &DOnly

ABCaD

[Option ID = 3280]

Topic:- 14_PARTC_S1
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Read the following passage: and answer guestion :

Recent decades have seen a stark Increase in the number of studies using cross countrv data
on governance. Among the most widely accepted meazures of governance arve the World Bank
Governance indicators or Transparency International (TI) corruption perception index ete.
Surprisingly. there 1s currently no similar widely accepted measure of transparency.
Although the governance indexes have received a fair amount of eriticism. not least for being
perception based. thev are widely used among hoth researchers and policy makers. No

transparency index has, however. so far attained a similar level of acceptance.

RTI =stands for Right to Information. Right te information iz a part of fundamental rights
under Article 19(1) of the Constitution. Article 19(1) savs that every citizen has freedom of
speech and expression. Az early as in 1976, the Supreme Court 2aid in the case of Raj Narain
vs State of UP, that people cannot speak or express themselves unless they know. There are
more than 65 countries in the world. which have RTI laws. There are nine states 1n India.
which had RTI laws, before this law was passed by the parliament. RTT just brings truth in
publie domain, It does not create any information. It just removes curtains and brings truth
in public domaim. Filling an RTI application and pursuing it takes time. energies and

resources.

A oitizen who desires to seek some information from a public authority 1= required to send.
along with the application (a Postal order or DD (Demand draft) or a bankers cheque) or a
court stamp pavable to the Accounts Officer of the public authority as fee prescibed for
seeling information. If the perzon 1z firom a dizadvantazed community. he/she need not pay. A
digital portal has been =et up. RTI Portal. a gateway to the citizens for quick search of
information on the details of first Appellate Authomties. PIOs ete. Along with thiz. RTI
related information disclosures published on the web by various Public Authorties under the

zovernment of India as well as the State Governments.

All private bodies, which are owned. controlled or substantially financed by the Government
are directly covered under RTI Others ave indirectly covered. That iz, if a zovermment
department can access mmformation from any private body under any other Act. the same can
be accessed by the citizen under the RTI Aect through that government department. There iz a
debate as to how hest the RTI can overcome the chstacles created by another statue which is
the Official Secrets Act. However. Section 22 of the RTI Act 2005 clearly savs that RTI Act
would override all existing Acts ncluding Officials Secrets Act.
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A stark increase in the number of studies using cross country data on governance is due to :
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[Question ID = 821][Question Description = 196_14_Public_Admin_0CT22_Q96]

1.

2.

Research on accountability issues,
I TaEdl g5l W o

[Option ID = 3281]
Popularity of RTI

AT F ATFT FA L ATETAA

[Option ID = 3282]



3.

4.

2)

Government support to opennesa,

[Option ID = 3283]

World Banlk indieatars.

[Option ID = 3284]

Read the following passage:; and answer guestion :

Recent decades have seen a stark increase in the number of studies using cross country data
on governance. Among the most widely accepted meazures of governance arve the World Bank
Governance indicators or Transparency International (TI) corruption perception index ete.
Surprsinglv. there 1s currentlyv no similar widely accepted measure of transparency.
Although the zovernance indexes have received a fair amount of eriticism. not least for being
perception based. thev are widely used among hoth researchers and policy makers. No

transparency index has, however, so far attained a similar level of acceptance.,

RTI stands for Right to Information. Right te information 1s & part of fundamental rights
under Article 19(1) of the Constitution. Article 19(1) savs that every citizen has freedom of
speech and expression. As early as in 1976, the Supreme Court said in the case of Raj Narain
vs State of UP. that people cannot speak or express themselves unless thev know. There are
more than 65 countries in the world, which have RTI laws. There are nine states in India.
which had RTI laws, before this law was passed by the parliament. RTI just brings truth in
publie domain, It does not create any information. It just removes curtains and brings truth
in public domam. Filling an RTI application and pursuing it takes time. energies and

Tesources.

A citizen who desires to seek some information from a public authority 1s required to send.
along with the application (a Postal order or DD (Demand draft) or a bankers cheqgue) or a
court stamp pavable to the Accounts Officer of the public authority as fee presciibed for
seelnng informaftion. If the person 1z fiom a dizsadvantaged communiiy. he/she need not pay. A
digital portal has been =zet up. RTI Portal. a gateway to the citizens for quick search of
mformation on the details of first Appellate Authorties, PIOs ete, Along with thiz. RTI
related information disclosures published on the web by various Public Authorities under the

government of India as well as the State Governments.

All private bodies, which are owned. controlled or substantially financed by the Government
are directly covered under RTI. Others ave indirectly covered. That iz, if a zovermment
department ean access information from any private body under any other Act. the same can
be accessed by the citizen under the RTI Act through that government department. There 1= a
debate as to how hest the RTI can overcome the chstacles ereated by another statue which is
the Official Secrets Act. However. Section 22 of the RTI Act 2005 clearly savs that RTI Act
would overiide all existing Acte meluding Officials Secrets Act.
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Consider the following statements regarding transparency.

(1) Acceptance of global indexes,
(2) Information Laws.
(3 Access to information freely provided by political and administrative institutions.

(d) No similar widely accepted measure of transparency,

Chaose the correct answer from the options given helow :
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[Question ID = 822][Question Description = 197_14_Public_Admin_0OCT22_Q97]
1. A B &C Only

Fad A B, 5 C
[Option ID = 3285]
2. A&COnly
#Fae A #7E C
[Option ID = 3286]
3 B & COnly
Faa B 3R C
[Option ID = 3287]
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[Option ID = 3288]
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Read the following passage: and answer guestion :

Recent decades have seen a stark Increase in the number of studies using cross countrv data
on governance. Among the most widely accepted meazures of governance arve the World Bank
Governance indicators or Transparency International (TI) corruption perception index ete.
Surprisingly. there 1s currently no similar widely accepted measure of transparency.
Although the governance indexes have received a fair amount of eriticism. not least for being
perception based. thev are widely used among hoth researchers and policy makers. No

transparency index has, however. so far attained a similar level of acceptance.

RTI =stands for Right to Information. Right te information iz a part of fundamental rights
under Article 19(1) of the Constitution. Article 19(1) savs that every citizen has freedom of
speech and expression. Az early as in 1976, the Supreme Court 2aid in the case of Raj Narain
vs State of UP, that people cannot speak or express themselves unless they know. There are
more than 65 countries in the world. which have RTI laws. There are nine states 1n India.
which had RTI laws, before this law was passed by the parliament. RTT just brings truth in
publie domain, It does not create any information. It just removes curtains and brings truth
in public domaim. Filling an RTI application and pursuing it takes time. energies and

resources.

A oitizen who desires to seek some information from a public authority 1= required to send.
along with the application (a Postal order or DD (Demand draft) or a bankers cheque) or a
court stamp pavable to the Accounts Officer of the public authority as fee prescibed for
seeling information. If the perzon 1z firom a dizadvantazed community. he/she need not pay. A
digital portal has been =et up. RTI Portal. a gateway to the citizens for quick search of
information on the details of first Appellate Authomties. PIOs ete. Along with thiz. RTI
related information disclosures published on the web by various Public Authorties under the

zovernment of India as well as the State Governments.

All private bodies, which are owned. controlled or substantially financed by the Government
are directly covered under RTI Others ave indirectly covered. That iz, if a zovermment
department can access mmformation from any private body under any other Act. the same can
be accessed by the citizen under the RTI Aect through that government department. There iz a
debate as to how hest the RTI can overcome the chstacles created by another statue which is
the Official Secrets Act. However. Section 22 of the RTI Act 2005 clearly savs that RTI Act
would override all existing Acts ncluding Officials Secrets Act.
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Consider the following statements on RTI?

(1) Right to information is a part of fundamental Right.
(2) Supreme court said that people cannot speak o1 express unless thev know,
(3) There are organizations covered directly and also indirvectly under RTL

{4) Section 22 of the RTI Act 2005 clearly says that the RTI Aet would override all
existing Acts excepts Official Secrets Act.

Choose the correct answer from the options given below :
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Read the following passage: and answer guestion :

Recent decades have seen a stark Increase in the number of studies using cross countrv data
on governance. Among the most widely accepted meazures of governance arve the World Bank
Governance indicators or Transparency International (TI) corruption perception index ete.
Surprisingly. there 1s currently no similar widely accepted measure of transparency.
Although the governance indexes have received a fair amount of eriticism. not least for being
perception based. thev are widely used among hoth researchers and policy makers. No

transparency index has, however. so far attained a similar level of acceptance.

RTI =stands for Right to Information. Right te information iz a part of fundamental rights
under Article 19(1) of the Constitution. Article 19(1) savs that every citizen has freedom of
speech and expression. Az early as in 1976, the Supreme Court 2aid in the case of Raj Narain
vs State of UP, that people cannot speak or express themselves unless they know. There are
more than 65 countries in the world. which have RTI laws. There are nine states 1n India.
which had RTI laws, before this law was passed by the parliament. RTT just brings truth in
publie domain, It does not create any information. It just removes curtains and brings truth
in public domaim. Filling an RTI application and pursuing it takes time. energies and

resources.

A oitizen who desires to seek some information from a public authority 1= required to send.
along with the application (a Postal order or DD (Demand draft) or a bankers cheque) or a
court stamp pavable to the Accounts Officer of the public authority as fee prescibed for
seeling information. If the perzon 1z firom a dizadvantazed community. he/she need not pay. A
digital portal has been =et up. RTI Portal. a gateway to the citizens for quick search of
information on the details of first Appellate Authomties. PIOs ete. Along with thiz. RTI
related information disclosures published on the web by various Public Authorties under the

zovernment of India as well as the State Governments.

All private bodies, which are owned. controlled or substantially financed by the Government
are directly covered under RTI Others ave indirectly covered. That iz, if a zovermment
department can access mmformation from any private body under any other Act. the same can
be accessed by the citizen under the RTI Aect through that government department. There iz a
debate as to how hest the RTI can overcome the chstacles created by another statue which is
the Official Secrets Act. However. Section 22 of the RTI Act 2005 clearly savs that RTI Act
would override all existing Acts ncluding Officials Secrets Act.
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Which of the following is not correct cancerning RTI?
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[Question ID = 824][Question Description = 199_14_Public_Admin_0CT22_Q99]

1.

2.

More than 65 countries in the world have RTI laws.

99 F 65 790 ° A9F 530 8 T F AL F A
[Option ID = 3293]
Nineteen States in India had RTT laws. before this law was passed by the Parliament.
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[Option ID = 3294]

Filing an RTI application and pursuing it takes time, energy and resources.
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[Option ID = 3295]

RTI just brings truth in public domain and does not create any information.
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[Option ID = 3296]

Read the following passage: and answer guestion :

Recent decades have seen a stark increase in the number of studies using cross country data
on governance. Among the nost widely accepted meazures of governance arve the World Bank
Governance indicators or Transparency International (TI) corruption perception index ete,
Surprisingly. there i1s currently no similar widely accepted measure of transparency.
Although the governance indexes have received a fair amount of criticism. not least for being
perception based. thev are widely used among hoth researchers and policy makers. No

transparency index has, however, so far attained a similar level of acceptance.

RTI stands for Right to Information. Right to information 1s a part of fundamental rights
under Article 19(1) of the Constitution. Article 19(1) savs that every citizen has freedom of
speech and expression. As early as in 1976, the Supreme Court =aid in the case of Raj Narain
vs State of UP. that people cannot speak or express themselves unless thev know. There are
more than 65 countries in the world, which have RTI laws. There are nine states in India.
which had RTI laws, before this law was passed by the parliament. RTI just brings truth in
public domain, It does not create any information. It just removes curtains and brings truth
in public domam. Filling an RTI application and pursuing it takes time. enersies and

resources.

A citizen who desives to seek some information from a public authority 13 required to send.
along with the application (a Postal order or DD (Demand draft) or a bankers cheque) or a
court stamp pavable to the Accounts Officer of the public authorify as fee presciibed for
sesling information. If the person is firom a disadvantaged community, he/she need not pay. A
digital portal has been =et up. RTI Portal. a gateway to the citizens for quick search of
information on the details of first Appellate Authomties, PIOs ete. Along with thiz. RTI
related information disclosures publiched on the web by various Public Authorities under the

government of India a= well as the State Governments.

All private bodies. which are owned. controlled or substantially financed by the Government
are divectly covered under RTI. Others ave indivectly covered. That iz, if a government
department can access information from any private body under any other Act. the same can
be accessed by the citizen under the RTI Act through that government department. There is a
debate as to how hest the RTI can overcome the chstacles ereated by another statue which is
the Official Secrets Act. However. Section 22 of the RTI Aect 2005 clearly savs that RTI Act
would overiide all existing Acte meluding Officials Secrets Act,
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A citizen who desires to seek some mnformation from a public authority:
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[Question ID = 825][Question Description = 200_14_Public_Admin_0CT22_Q100]

1.

2.

Application along with a Demand Draft only.

Fae T5ATs ST % W19 FEE w
[Option ID = 3297]

Even a person is from a disadvantaged community. he/she also need to pay the fee,
WA WIEE = 5 A6 I0F F PTaE A el

[Option ID = 3298]



3. (Citizen can access private organization information through government department.

FPTTE HOEE AT F HIeE 1 ] e 5 T R A A

[Option ID = 3299]
Government of India 1= planning to establish a digital RTI portal to help public from

2023
ST TEE AN A HEEA FA F (0 a9 2022 7 {55Ea g w5 e e i w0 6
BIEC I E R
[Option ID = 3300]
Topic:- GP_UGCNET_110CT_SH1_S1_A

1) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular vear. Based on the

data in the table answer questions 1- 5:

College
College | College | College | College
Stream W x ¥y z
(500) | (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 360
Engineering 50 50 150 150
Medical 150 a0 50 100

freaferfiaa mfesn w famam =1 e Bl fagm ad o oo o 4 gets sera 1 @i 6 e gen § 5 2
A7 4 fafo= garmt 4w o5 A Fenfdt fgen A ond 2y

AlferR & 2] & AT W YE E. 1.5 9 30 4

FTerd

FreAs | wrers | FErE | wEs
gFH " - ¥ =
' (500) | (500) | (1000) | (1000)
Erile] 100 | 150 | 330 300
Fl 100 | 100 | 300 350
wfagiteER | 50 50 150 150
ferferean 150 | a0 50 100

In which stream the number of admitted students is highest?
(1) Medical (2) Science
(3) Arts (4} Engineering



fore Farra o wayy @9 aret faenfera) 6 gem afagag 27
(1) i*ﬂ‘a-r’.” {2] ELH:!
(3) Tl (4)  shrmiEh

[Question ID = 1316][Question Description = 101_00_General_15_0CT22_Q01]
1. 1 [Option ID = 5261]
2. 2 [Option ID = 5262]
3. 3 [Option ID = 5263]
4. 4 [Option ID = 5264]

2) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W x ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100

frferfiga afermm w e =1 o Brdfi fadm ad 3 foo 9 O gots wea ) @ 6 5 gen o 2
st A fafo=y gt | vam o4 T fenfda Hramndnd 2

Alfeta & 32 & IMUOTIHE E, 159 FH &

FTeT

FIAS | FTS | FEE | FEE
T " i ¥ E
' (500) | (500) | (1000) | (1000)
Erie] 100 | 150 | 350 300
e 100 | 100 | 300 | 350
sfuitefl | 50 | 50 | 150 | 150
ferferean 150 | 50 50 100

What 1s the percentage of vacant seats?
(1) 17.66 (2) 15.66
(3) 14.29 (4) 16.67



e HT2] =1 sferareren == 27

(1) 17.66 (2) 1566
(3) 14.22 (4) 16.67

[Question ID = 1317][Question Description = 102_00_General_15_0CT22_Q02]
1. 1 [Option ID = 5265]
2. 2 [Option ID = 5266]
3. 3 [Option ID = 5267]
4. 4 [Option ID = 5268]

3) Consider the following table which shows the total number of seats in each college in bracket

and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100

feaferfiaa arfers w famm =1 foe el fagm ad & fo v 4 o e ) 392 6 5 g 4w 3
st A fafor=y gt | vam o4 T fenfda Hramndnd 2

Alfer & 2 & IMUOTIHE E, 159 0 &

FTeTd

FIAS | FTeS | FErE | FEE
TFE o o ¥ z
' (500) | (500) | (1000) | (1000)
Erie] 100 | 150 | 350 300
e 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | 50 50 100

What is the ratio of students admitted to science stream and engineering stream?
(1) 9:4 2y 7T:4
(3 :bh 4 9:5



Terstra |ewr afn sifvenfaeh w4 @9 o are P s e 27

(L 9:4 2 7:4
(3) 11:5B 49 9:5

[Question ID = 1318][Question Description = 103_00_General_15_0CT22_Q03]
1. 1 [Option ID = 5269]
2. 2 [Option ID = 5270]
3. 3 [Option ID = 5271]
4. 4 [Option ID = 5272]

4) Consider the following table which shows the total number of seats 1n each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) | (500) | (1000) | (1000)
Science 100 150 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100

Fpferfiaa arfer w e = e Bl fagm ad o fo i 8 g e ) @20 6 e b & 2
st A fafor=y garmt | vam =3 9 fenfda Hramndnd 2

Alfeta & 32 & AT IHE E. 159 0 &

el

FAS | FeS | FErE | FEE
HEE o o ¥ z
' (500) | (500) | (1000) | (1000)
EFIC! 100 | 150 | 330 300
el 100 | 100 | 300 350
wfgifaf | 50 50 150 150
ferfaren 150 | &0 50 100

What is the percenteage of students admitted to Medical stream among the total number of
admizsions of the college?

(1) 13 (2) 15
(3) 14 (4) 186



FTErS o e e 4 el g U gas o arel i o sfaem s 2t

(1) 13 (2 15
(3 14 (4 16

[Question ID = 1319][Question Description = 104_00_General_15_0CT22_Q04]
1. 1 [Option ID = 5273]
2. 2 [Option ID = 5274]
3. 3 [Option ID = 5275]
4. 4 [Option ID = 5276]

3) Consider the following table which shows the total number of seats 1n each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W x ¥ z
(500) | (500) | (1000) | (1000)
Science 100 150 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 a0 50 100

frfifias mfean w fram = fomil B faem ad = fav 9 4 gos Fea 6 @i 6 50 den §ud 2
st A fafo=y gapmat | wam o 9 fenfdar fHramnd nd 2

Alfera & 32 & JAMOTIHE H, 159 0 &

el

FAS | FTS | FEE | FEE
HFE b x ¥ e
' (500) | (500) | (1000) | (1000)
faam 100 | 150 | 330 300
el 100 | 100 | 300 | 350
wfgifaf | 50 50 150 150
ferfearrm 150 | 50 50 100

What is the average number of Arts students admitted to each college?
(1) ~ 214 2y ~212
(3) ~ 2156 4 ~217

Tl Fers § WA @4 316l Fell F fenifeE 1 oma gem e 27

(1) ~ 214 (2) ~212
(3 ~21h 4 ~217



[Question ID = 1320][Question Description = 105_00_General_15_0CT22_Q05]
1. 1 [Option ID = 5277]
2. 2 [Option ID = 5278]
3. 3 [Option ID = 5279]
4. 4 [Option ID = 5280]

Topic:- GP_UGCNET_110CT_SH1_S1_B

1)

Match List I with List IT :

(A)

(B)
(©
(D)

ListI
Mind Maps

Gamifications
Flipped Classrooms
10T based teaching method

List IT
(I Allow student to explore the lesson
before the teacher describes

(IT) Virtual Reality
(IIT) Use of self-learming tools

(IV) Learning through using quizzes

Choose the correct answer from the options given below :

(1
2
(3)
(4

(A)-(I). (B)-(ID). (C)-(III). (D)-(IV)
(A)-IV). B)-0). (C)-(11D), (D)-(IT)
(A)-(IID). (B)-(IV). (C)-(I). (D)-(ID)
(A)-(ID), (B)-(IID). (C)-TV). (D)-(T)

AT & 19 HELI 1 e Hifaw

(A)

(B)
(C)

(D)

4= fev mu fawedi 4 7 98 390 &1 994 $ifaw .

(1)
(2)
(3)

(4)

11

ga: fem

fifEra
Feadfiaa (feme ) #am

ICT swenira foem uzfa

(A)-(D), (B)-(I0), (C)-(I1I). (D)-(IV)
(A)-(IV), (B)-(D), (C)-(I1D), (D)-(ID)
(A)-(III). (B)-(IV). (C)-(I). (D}-(IL)
(A)-(ID), (B)-(I1D), (C)-@V), (D)-(T)

(D

(I

(IV)

HHAIL

formn 1 sre & qd faaell @ e &
sr=pmn 1 3eEfa g

TG Ar

¥ ~foreq1 3ol &1 39Em

yyreaft (faaa) & awam grn Hian

[Question ID = 1321][Question Description = 106_00_General_15_0CT22_Q06]
1. 1 [Option ID = 5281]
2. 2 [Option ID = 5282]
3. 3 [Option ID = 5283]
4. 4 [Option ID = 5284]



2)  Match List T with List I

(A

(B)

(€

ListI
Formative Evaluation

Placement Evaluation

Summative Evaluation

(D) Diagnostic Evaluation

(D

(II)

(ILT)

(IV)

Last TT
The purpose 1= to check the aptitude of
a candidate for the course or subject.

Entrance exam can be conducted for
the same.

It provides the student with feedback
regarding his/her success or failure in
attaining the instructional objectives.
Thas evaluation provides an
explanation for the possible causes for
problems in learning.

It 1s a method of judging the worth of a
programme at the end of programme
activities.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

Hl-1 %

(A)-(I). (B)-(ID. (C)-(I1L). (D)-(IV)
(A)-(TIT). (B)-(I). (C)-(II). (D)-(IV)
(A)-(ID). (B)-(I), (C)-(IV). (D}-(III)
(A)-(IV), (B)-(I). (C)-(I), (D)-(I1I)

=Y {10 1 e Fifao

(A) TS Yol

(B)  *MHA-YedTeH

(C) HFeHHS JedFi

(D)  TOENTHE Yedisha

g9 fau
(1)
(2)
(3)
(4)

o fadedi 4§ HE L B T4 hifAu
(A)-(0). (B)-(II). (C)-IL). (D)-(IV)
(A)«I1T). (B)-(D). (C)-(IL). (D)-(IV)
(A)-(ID). (B)-(D), (C)-(IV), (D)-(1ID)
(A)-(IV). (B)-(IL), (T)-(I), (D)-(IID)

H1-11

magFEs wua fawa & fau sl &
fiwt= &1 o S s 329 R 3 &
fea wepg) wfien sl =1 w21

4 HEe AU HAHA 7 @ Haw g ufagfe
qeH FE £ |

g7 YedigA s & guerE & feao
BT RV il 4= TEHE w2 |

a7 Hr Tiafaiedl % auE 9w
uge % &f 4 ol w3 6 gzf 2

[Question ID = 1322][Question Description = 107_00_General_15_0CT22_Q07]

1. 1 [Optio
2. 2 [Optio
3. 3 [Optio
4. 4 [Optio

n ID = 5285]
n ID = 5286]
n ID = 5287]
n ID = 5288]



3)

Which of the following 1s/are the feature/s of Reflective level of teaching?

(A)

(B)

(©)

(D)

(E)

Students learn by understanding the facts and information.
Teaching is nothing but learning the subject by rote.
Development of problem-solving ablity.

The student’s original thinking and creative abilities.

The pupils are kept 1n strict disciphines and eramming 1s insisted.

Choose the correct answer from the options given below :

(1)

(3)

(B) and (C) only (2) (D) and (E) only

(A) and (B) only (4y (C)and (D) only

Frrierfien 4 2w 8 T faad s ) Eemau 27

(A)

(B)

(C)

(D)

(E)

Tl Ao 2w g1 1 HuE # ogw v 2

farer =1 724 & gwn #fivaa % sefafen e e = 2
HUF-HATTH 3 1 A & fa |

Taamdi <1 ifera dr= 30 =T 9rn |

ferenefi 3 sAwIEH | 76 ST @ H10 T WoAR e |

41 fau v famem 08 =2 39 6 = At .

(1)

(3)

Fad (B) 31 (C) (2) %ad (D) 38 (E)

HAA (A) 31T (B) (4) A (C) 371 (D)

[Question ID = 1323][Question Description = 108_00_General_15_0CT22_Q08]
1. 1 [Option ID = 5289]
2. 2 [Option ID = 5290]
3. 3 [Option ID = 5291]
4. 4 [Option ID = 5292]



4 T con B ; g A
) Put the following 1n correct sequence in the hght of process of Evaluation systems.

(A) Development and use of measurement instruments.

(B) Interpretation of Data.

Q) Setting objectives and eriterion.

(D) Formulation of judgements and taking of appropriate action.
Choose the eorrect answer from the options given below :

(1 (A). (B). (C). (D) (2) (B) (C). (A), (D)
(3) (C). (A). (B). (D) 4) (A (C). (B). (D)

geaieA saa s o1 ufseen & sreien § Fefofias @ o eu i o
(A) O I R T i I
(B) @ o =awe
(C)  Feodi 3 Fee (Feefom) @ wefie s |
@) i o gfires o shEa FrEia e )
1 T o faereadi 0 A /1 397 o1 =994 e

(D (A). (B). (€). (D) 2) (B (C). (A). D
(3) (C). (A). (B). (D) (4) (A). (C). (B). (D)

[Question ID = 1324][Question Description = 109_00_General_15_0CT22_Q09]
1. 1 [Option ID = 5293]
2. 2 [Option ID = 5294]
3. 3 [Option ID = 5295]
4. 4 [Option ID = 5296]

5) In which of the learner-centered methods students arve first presented with challenges?
(1) Selflearning (2) Active learning
(3 Inductive teaching and learning (4) Cooperative learming

frferfia 1 | feba forandl @f=q fafaai O feneiai & waa gl wqa & o 27

(1)  =E-whnrm (2) ufrg wfam

(8y  smmETenss faen s s (4) HEamTEe sifETy
[Question ID = 1325][Question Description = 110_00_General_15_0CT22_Q10]
1. 1 [Option ID = 5297]
2. 2 [Option ID = 5298]

3. 3 [Option ID = 5299]
4. 4 [Option ID = 5300]

6)  What is the full form of MLA' as a referencing style?

(1) Machine Language Adaptation (2) Modern Language Association
(3) Management Language Authority (4) Mainstream Lanzuage Association

ded Siefi (PisfEm) % w9 0 MLA %1 90 99 #0127

(1)  urs dEas v (2)  urEd e vEfEreE
3) e diEe s (4) aEfy das vEifaueE

[Question ID = 1326][Question Description = 111_00_General_15_0CT22_Q11]
1. 1 [Option ID = 5301]
2. 2 [Option ID = 5302]
3. 3 [Option ID = 5303]



4. 4 [Option ID = 5304]

7) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A):  Qualitative research is guided by positivistic epistemology
Reason (R) : The aim of quantitative research is only to test hypothesis.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct hut (R) is correct

419 & Fum fen o . v sfiyees [Assertian(ﬂ))"mmﬁfﬁ'ﬁﬁﬁ?ﬁ@ﬁmﬁm{ﬂeasun

R) F =9 Y ;
HAYFET (A) : afcamorrases siE veEard) g # fen-fefm s 2
HHUl (R) qfrgiITeer 914 1 3299 dhdel YTEeSAl &1 THET HE 2

YT U & e O, = foun e fasedi O § gad 3uge I T difa

(1) (A) 3 (R) 21 77 2 31 (R), (A) 6 Wl = 2

@) (A 3 ®) 21w 2, wfE R, (A) H H s 4 2
(3 (A FA R, i ®) 9d T 2

@) (A wE FE 7, offda (R) 74 2

[Question ID = 1327][Question Description = 112_00_General_15_0CT22_Q12]
1. 1 [Option ID = 5305]
2. 2 [Option ID = 5306]
3. 3 [Option ID = 5307]
4. 4 [Option ID = 5308]



8) @iven below are two statements :

Statement I : In present time, researchers prefer to write research papers over
writing a monegraph.
Statement 11 :  Monographs and books are not included in the data base of research.

In the Light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
($23] Both Statement T and Statement I1 are incorrect
(3) Statement I is correct but Statement IT is mneorrect

(4) Statement [ i= incorrect but Statement IT is correct

= &1 A fau o 2 .

&eq I:  aduE 9ug O sigswan gers fongd @ sman sy g3 faea gde #d 2)

d4F I1: 919 & 212 &4 8 g 31 s dffaa 26 2)
IiTH YA & et d, A fou e faweni O 8 q98 3 s o 9 Fifan

(1) &9A 136 e =8 2
(2 @A 13 I EF Ted 2
(3)  w¥A IHH 2, A e a2
(4) &4 1A B, dfdd ®ya I 5 2

[Question ID = 1328][Question Description = 113_00_General_15_0CT22_Q13]
1. 1 [Option ID = 5309]
2. 2 [Option ID = 5310]
3. 3 [Option ID = 5311]
4. 4 [Option ID = 5312]



9)
Given below are two statements :

Statement I: Field notes are important for prompting the ethnographer’s memory and
form much of the data for subsequent analysis.

Statement II: Research methods such as qualitative interviewing are flexible, and are less
disruptive of the work and personal Lives of both researchers and research
participants.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT 1s correct
A A g faomd .

FoH () ;@3 feoaforr g=fa avesd #1 w3 w1 sgataa #91 * fom gempl 2 s s faverm =
Tz =01 sifufe am e 2 )
e (I0) :  7TTesieh HTese S 911a wgfoal 45T el § =i snusrdis] vd si sfawrfe aqi &+

I FAA ok AT 8, = e o faeredi @ | wad 3w e A il -

(1)  FH9 Isip OEETEa3 |
(2) FoE 130 [ SET T4 7 |
(3) R I9A 2, cfFA FeR I TEm 2 |

(4)  Fed Ied 2, el e TTEA 2 |

[Question ID = 1329][Question Description = 114_00_General_15_0CT22_Q14]
1. 1 [Option ID = 5313]
2. 2 [Option ID = 5314]
3. 3 [Option ID = 5315]
4. 4 [Option ID = 5316]



1) Which among the following are examples of personal documents; for the purpose of sources
of data?
(A) Diaries
(B) Mass media outputs
(C)  Letters
(D)  Autobiographies

(E) Company documents

Choose the most appropriate answer from the options given below :
() (A (B). (C)only (2) (A). (C). (E) only
(3 (A). (C), (D) only 4) (B). (C). (D) only

freaferfiaa § 4 19 2rd & €A1 F 3299 % fom safanm 9 & 3enm 2 7
(A) AR (zaf)

B itz i (smEege)

(c)y w

(D)  sreEEm

(E) w9
4 Tau e | A7 3 ) w9
(1)  #a4 (A), (B). (C) (2) #FE# (A). (C), (E)

(3) & (A). (C). (D) 4) T (B), (O). (D)

[Question ID = 1330][Question Description = 115_00_General_15_0CT22_Q15]
1. 1 [Option ID = 5317]
2. 2 [Option ID = 5318]
3. 3 [Option ID = 5319]
4. 4 [Option ID = 5320]

11)
In terms of communication, most online platforms of teaching and learning are :
(1) Synchronous (2) Asvnchronous
(3) One-to-none (4) Tied to specific timeframe

wrryor it gtz 8§ e i s & e s weE 2

(1) =zl (2)  FHEEIAF
(3)  UHH FEAE dF (4) Tafsm agwdon 495

[Question ID = 1331][Question Description = 116_00_General_15_0CT22_Q16]
1. 1 [Option ID = 5321]
2. 2 [Option ID = 5322]
3. 3 [Option ID = 5323]
4. 4 [Option ID = 5324]



12)

Which of the following are barrmers to acceptance of communicated messages?
(A) DBodylanguage with positive vibes

(B)  Attitude of the listener

{C) Values of the decoder

I Status clash

(E) EKnowledge stimuli

Choose the correct answer from the options given below :
(I} (A (B). (C)only (2) (B). (C), (D) only

(3  (C). (D). (E) only @) (A). (D). (E) only

Fe=ferfiad 0 A i Fufvd 397 &1 a0 s a7

(A)  HEETEEE ST arel i e

(B) vl gty

(C)  fau®as & g

D) oz

(E) FHIEMH

=t fau e Fasrel 0 & a2 399 %1 =2 i

(1) = (A), (B), (©) (2) #A (B), (C). (D)
(3)  #HF (C). (D). (E) @) FF (A). D), (E)

[Question ID = 1332][Question Description = 117_00_General_15_0CT22_Q17]
1. 1 [Option ID = 5325]
2. 2 [Option ID = 5326]
3. 3 [Option ID = 5327]
4. 4 [Option ID = 5328]



13)
Given below are two statements ;

Statement I: Western concepts focus on wholeness and unity of communication.

Statement IT: Non-Western communication concepts have the strong central idea
of individualism.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
{(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1= false

(4) Statement I is false but Statement I 1= true

d @ e fqum g .

FoA (@) ;T SR =@yl i s v 91 e i e
FA (1) ;T —rraTed Jigw Ahrarn s § sfFEs 5 vead F2a aE S f |
IV T o e 4, J19 feu o el O 8 a6l 3 g8 Fifa -

(1) FIziRIEdigas)

(2) #9431 3R [ &H 559 & |

(3)  #wA 14™ 2, A %94 I 597 2 |

(4) FRIAFAD, A FA AAA |

[Question ID = 1333][Question Description = 118_00_General_15_0CT22_Q18]
1. 1 [Option ID = 5329]
2. 2 [Option ID = 5330]
3. 3 [Option ID = 5331]
4. 4 [Option ID = 5332]



14)
As per the New London Group, the five modes of communication in sequence are ;

(A)  Linguistic
(B)  Visual

(C)  Aural

(D) Gestural

(E) Spatial

Choose the correct answer from the options given below :

(L) (A, (B), (C), (D). (E) (2) (B). (C), (D), (E). (A)

(3) (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)

94 1EA HYR % AT FHE F4 HHYW F 0= = E

(A) =TT

B

(© ==

(D) HehdATY

(E)

94 fau m famed O | w5 39 = =ae ifsu

(1) (A), (B). (C), (D), (E) (2) (B), (C), D), (E), (A)
(3) (C). (D). (E). (A). (B) 4y (D). (E). (A). (B). (C)

[Question ID = 1334][Question Description = 119_00_General_15_0CT22_Q19]
1. 1 [Option ID = 5333]
2. 2 [Option ID = 5334]
3. 3 [Option ID = 5335]
4. 4 [Option ID = 5336]



15)

Match List I with List IT :
ListI List IT
Elements of Human Communication Representational Description
(A} People {I) Semanticism
(B) Ideas (IT) ILead to modification of Physical
environment
(C) Noise (ITII) Information processors
(D) Language (IV) Expression of creativity

Choose the correct answer from the options given below :

(1) (A)ID, (B)-ID), (C)-(IV). (D)D)
(2) (A)-(T), (B)-(IT). (C)-(IV). (D)-(III)
(3) (A)-(IV), (B)-(I). (C)«(IIL). (D)-(II)
(4) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)

=i 1 o e g I = fuer ife
g1 11
YT | % el e 2
(A) 0 M weifEEEe
B) fa=n (D) 35A difers T F w2 2
(C) ¥ (47z4) (IIT) H=1 5 ST
(D) umi (IV) TaTeds = sifuasafe

44 o e | 3 ol 397 91 =94 Hif

(L) (A-D. (B)-(IIL). (C)-IV). (D)-(D)
(2) (A)-(D). (B)-(ID). (C)-aV), (D)-1ID)
(3) (A)-(IV). (B)-(). (C)-dID. (D)-(ID
(€ (A)-(III), (B)-(IV), (C)-(ID), (D)-(I)

[Question ID = 1335][Question Description = 120_00_General_15_0CT22_Q20]
1. 1 [Option ID = 5337]
2. 2 [Option ID = 5338]
3. 3 [Option ID = 5339]
4. 4 [Option ID = 5340]

16 3 3
) If 7461 12 coded as 135. then what will be the code for 68937
(1) 151 (2) 161
(3) 179 (4y 152



A4 7461 #1 135 % ¥ ¥ Fzasg gy v 291 71 6893 2 %2 741 &7
(1) 151 (2) 161
(3 179 4) 152

[Question ID = 1336][Question Description = 121_00_General_15_0CT22_Q21]
1. 1 [Option ID = 5341]
2. 2 [Option ID = 5342]
3. 3 [Option ID = 5343]
4. 4 [Option ID = 5344]

17) A clock is set right at 5 AM. The clock loges 16 minutes in 24 hours. What will be the true
time when the clock indicates 10 P.M. on 4% day?
(1) 11 AM. (2) 11P.M

(3 9 P.M.: (4) 10P.M.

U HE ) WE: 5 F9 W gE 92 T w2 24 991 4w w1 16 foae & wif3 w2 ) wm wd 9e
faq oy 10 73 = qum femrd 2, @1 9 9o+ 2

() a1l E (2 WM 119
(3) ufs o3 (4) TIfa 10 @4

[Question ID = 1337][Question Description = 122_00_General_15_0CT22_Q22]
1. 1 [Option ID = 5345]
2. 2 [Option ID = 5346]
3. 3 [Option ID = 5347]
4. 4 [Option ID = 5348]

18) Given below are two statements :

Statement I: If yvou know the length of anv one side of a right angled triangle. the area of
the triangle can be found.

Statement IT: If vou know the length of two sides of a right angled triangle. the length of
the third side can be found.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement 1T are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement IT 1z incorrect
(4) Statement T is incorrect but Statement IT is correct

4 71 A fo e E

FoE () AT s Feft s G o v e ) oA 5 2, @ e dre e s g 2

Fed (I0) : afa s forel st Bgw A 1 gensti ft s s &, @ diad gen 6 daE e
BETIEY

T F44 % e 4, A o e Fwedi d | w8 3 % = fif
(1) FeRIFENIIEHIEAR
(2) FHRISARIIZHAITAGS |
(3) e IUd 2, oifkA A ILTeE 2 |
(4  FEAITEA R, A FH IEA R
[Question ID = 1338][Question Description = 123_00_General_15_0CT22_Q23]

1. 1 [Option ID = 5349]
2. 2 [Option ID = 5350]



3. 3 [Option ID = 5351]
4. 4 [Option ID = 5352]

19)  Which of the following has the highest value?
(1 157 2 6
(3 27 4) 3

F=feafiga 4 & e w9 siiasag 27
(1) 152 (2) 64
(3) 21 (4 3°
[Question ID = 1339][Question Description = 124_00_General_15_0CT22_Q24]
1. 1 [Option ID = 5353]
2. 2 [Option ID = 5354]
3. 3 [Option ID = 5355]
4. 4 [Option ID = 5356]
20) What will be the diameter of a civcle having area equal to that of a square of side 2.0 m?
1) ~1256m (2) ~2257Tm
(3) ~0.88 m 4 ~2718m

UF 2.0 m W F A F AAFA & HAA AR F Tk g9 F) SH = A7

(1) ~1.256m (2) ~225Tm
3 ~08%m (4) ~2718m

[Question ID = 1340][Question Description = 125_00_General_15_0CT22_Q25]
1. 1 [Option ID = 5357]
2. 2 [Option ID = 5358]
3. 3 [Option ID = 5359]
4. 4 [Option ID = 5360]

21)

"The secretaries have asked us to provide lounge areas where they can spend their coffee
breaks. This request will have to be refused. If we give them lounge areas, next they will ask
for spas and swimming pools. Then it will be yvoga centres and fitness gyms. Expenditures for
these facilities will drive us into bankruptey”. Which fallacy 1s committed in the above
argument?

(1) Strawman (2) Hasty generalization

(3) Red herring (4) Slippery slope

Vil 3 wd fAam-sa vgm w2 st 4 3R 576 e o uuy =d@i| 9w g% ) g am R
sy A1 20 | afe w3 Faum - 4 g #, a1 ) 9 g i feafan g o om #3) | iEg &E) e
fobzm Tl 1 win i smwfl | 3 gfawss @ o Fd-5a g a8 s | o a4 | Ea-
adam s 2t

(D) el (=7 84) (2)  fa=rd wra=im
(3) TEEREm (4) TraeHgE e (Femf =)

[Question ID = 1341][Question Description = 126_00_General_15_0CT22_Q26]
1. 1 [Option ID = 5361]
2. 2 [Option ID = 5362]



3. 3 [Option ID = 5363]
4. 4 [Option ID = 5364]

22 -
) iven below are two statements :

Statement I: The intensional meaning consists of the gualities or attmbutes that the term

denotes.

Statement IT: The extensional meaning consists of the members of the class that the term
denotes.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is eorrect but Statement II 1s incorrect

{4) Statement I is incorrect but Statement IT is correct

4 21 g fan o 3 .
w9 ([):  HYEIS 3 92 ST HI48 [0 41 {9t erdi e |
#9q (I0) :  fawea @14 4 va gm Ffde o & qee @49 2 |

T HAA o AT H, T e faeed d & was aqead 3w e il

(1) FUH [AT M EHTHA 2 |
(2) FRIATIMEHITAAT |
(3) R [HE 2, oI e ILTer 2 |

(4) A [ed &, dfe Fem Iad 2

[Question ID = 1342][Question Description = 127_00_General_15_0CT22_Q27]
1. 1 [Option ID = 5365]
2. 2 [Option ID = 5366]
3. 3 [Option ID = 5367]
4. 4 [Option ID = 5368]



23)
Which of the following is true regarding Nvaya view of invariable concomitance?

(A) It iz determined by inductive process of reasoning which corresponds to Mill's method
of agreement and method of difference.

(B) It 1= based on concomitance of affirmatives that wherever a product exists the

material cause thereof exists.

(C)  Itis based on the concomitance of negatives that wherever a material cause does not

exist the product thereof does not exist.

(D) Nyava view of inductive process does not correspond to Mill's method of agreement
and method of difference.

Choose the correct answer from the options given helow :

(1)  (A).(C) and (D) only 2) (B). (C) and (D) only
(3) (B)and (C) only (4) (A), (B) and (C) only

Ffeiaa 0 | #A-4 faa A & =m giEm & G699 1 a0 27

(A) e ek R srraeTenss wiE 3 R 2 2 o e s o] sie S e # gy #a

21
(B)  Tr AfEqar=l & Arg=d 93 v R - o9 w5 o i = siftae @2, 99 2k difas w5
&1 ol syfrees 71 2

(C)  ¥8 SFNTeHH| o Aead T saiE 2 - o wal ot difas s s stfeaes 7@ @, 3@ 359 afom
&1 sfedea Fd Fan 2 |

(D)  smmEEH Uik = gt e ) s g s s g & awen 98 2 |

1= fam o fehed) O | O 3 o =9 Fifan
(1) %A (A), (C) 51 (D) (2) A (B), (C) 31 (D)
(3) FAE (B) 3N (C) (4) A (A), (B) 5 (C)

[Question ID = 1343][Question Description = 128_00_General_15_0CT22_Q28]
1. 1 [Option ID = 5369]
2. 2 [Option ID = 5370]
3. 3 [Option ID = 5371]
4. 4 [Option ID = 5372]



24) If Sneha tampered with the examination script. then she 1s guilty of a crime. Sneha did not
tamper with the examination script. Therefore sneha is not guillty of a crime’. Which fallacy

is committed in the above argument?
(D Fallacy of affirming the antecedent
(2) Fallacy of composition
(3 Fallacy of denying the antecedent
(1 Fallacy of affirming the consequent
“afg e 3 whey fof 1 @2 o2 &t 2, @ 98 390y w93 6 Rt 3 Fa 3 ofign faf 1 szer 734
11 3 TR S i hE A
et e 4 AT Tk 2
(1)  qEadi #i yfasia # & adam
(2) AT F Aher
(8)  Ydadi @l FENA H dham
(4)  ZEd F) Ui e w dehe

[Question ID = 1344][Question Description = 129_00_General_15_0CT22_Q29]
1. 1 [Option ID = 5373]
2. 2 [Option ID = 5374]
3. 3 [Option ID = 5375]
4. 4 [Option ID = 5376]



25)
Given below are two statements :

Statement I: According to Nyava philosophy an argument does not proceed on the issues
that are well established.

Statement I : According to Nyayva philosophy an argument can proceed only on those issues

that are completely and absolutely unknown.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3 Statement T is correct but Statement IT is incorrect

(4) Statement Iis incorrect but Statement II 13 correct

J= 21 Fem fnomu 2

Fa4 (D) : =7 29 & SR qerior fawe a1 de s 6 s 2

Fo (ID) :  #47T4 7909 o SR oo 9 fad o2 =i o e 2 < pia: o . s )

I A o AT U, A e e 4 A wEs IREe I e i

(1) HFFEIMTOHIEAZE)
(2) FUATHT DA Ted 2 |
(8)  FHIHA 2, AT T LA 2

() I 2, eiferd g T Ed 2

[Question ID = 1345][Question Description = 130_00_General_15_0CT22_Q30]
1. 1 [Option ID = 5377]
2. 2 [Option ID = 5378]
3. 3 [Option ID = 5379]
4. 4 [Option ID = 5380]

26)
What 1s the full form of the acronym CAD and CAM?

(1) Conirol Aided Data and Computer Aided Man

(2) Computer Aided Design and Computer Aided Manufacturing
(3) Computer Aided Design and Computer Aided Maintenance
4) Computer Aided Design and Computer Aided Man



nfcaf #1 v £ (CAD) *iW #i v vy (CAM) = 70 &4 & &7

(1) gl ugz = sin Frge uge iy

(2)  Feger uze faare s sy v igtaaio

(3) =gz vz T 3in gy vgs Uedw

4  FHzussfeme N Ty vEe [/
[Question ID = 1346][Question Description = 131_00_General_15_0CT22_Q31]
1. 1 [Option ID = 5381]
2. 2 [Option ID = 5382]

3. 3 [Option ID = 5383]
4. 4 [Option ID = 5384]

27) Which two of the following tasks are carried out by all operating systems?

(A) Repairing mouse

(B)  Datalogging

(C)  Managing system respurces including memory
(D) Transfering data to printer

(E) Drawingimage

Choose the correct answer from the options given below :
(1) (A} and (D) only (2) (B)and (C) enly
(3)  (C)and (D) only (4) (C)and (E) only

Fferfaa 4 4 #a-4 71 % ad) srafan e g G s 21
(A)  HI3g & e

(B) =@ A

(C)  buf) afee ez dans] &1 gafaad w5

(D) =1 A e A St e

(B) 35 M1

i few T foreedl 6 6 w1 390 1 =59 Fifao

(1)  Fae (A) #in (D) (2) #F=e (B) 31 (C)
(3) Faw (C) 3 (D) 4) F9 (C) 511 (E)

[Question ID = 1347][Question Description = 132_00_General_15_0CT22_Q32]
1. 1 [Option ID = 5385]
2. 2 [Option ID = 5386]
3. 3 [Option ID = 5387]
4. 4 [Option ID = 5388]



28)
The functional components of a digital computer are :

(A) Input Device

(B)  Printer

(C) Central Processing Unit
(D) Memory

(E) Output Device

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only (2) (A), (D), (E) only
(3) (A). (C). (D). (E) only (4) (C). (D). (E) only
Tefies Frgz & Fious 924 2 -
(&) Iz fzamnm
B o=

(©) et mafan gl
(D) wEi

(B) #7132z fzamem
4 fau m fernedi 4 4 w3 & = il

(I) %4 (A). B). (©). (D) (2) #AEd (A), (D). (E)

(3) A (A). (C), (D), (E) (4) FaE (C), (D). (E)

[Question ID = 1348][Question Description = 133_00_General_15_0CT22_Q33]
1. 1 [Option ID = 5389]
2. 2 [Option ID = 5390]
3. 3 [Option ID = 5391]
4. 4 [Option ID = 5392]



29)
Given below are two statements :

Statement I: Piracy refers to attempts to gain information from otherwize undisclosed

areas.
Statement II: Hacking refers to the unauthorized duplication of computer software,

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT is false

(4 Statement I is false but Statement II is true

A g e fru
FeA () IR F AR S H A H OHEAT 9T %A s wEnE q 2 )
FoA () ;B 1 A1eTd dege Hivedn £ stagd A5 (gfeea) 42 )

9T F4F = ST 0, J19 2o e famedi 8 19w e o =9a il

(1) ¥ IARIIAIEAE |
() FEIANIIEE ATAE |
(3)  weH 1™ 2, ol F9 [ 5593 2 |

(4) w9 T 30ea e, offehd FoA TTHAa 2 |

[Question ID = 1349][Question Description = 134_00_General_15_0CT22_Q34]
1. 1 [Option ID = 5393]
2. 2 [Option ID = 5394]
3. 3 [Option ID = 5395]
4. 4 [Option ID = 5396]



30)
Given below are two statements ;

Statement I: SWAYAM is Study Web of Active Learning for Young Aspiring Mind.
Statement 1T : SWAYAM is Source With Active Young Aspirational Mindfullness.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement T and Statement IT are correct

(2)  Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement IT 1z correct

4 &1 e fau o E -

Foq (D) ;= (SWAYAM) &1 9 9 2 221 91 % Ufdea off-n w7 27 et 5Ee |

#24 (ID) : =94 (SWAYAM) &1 i &9 2 |r fae vfgza gn tfors=a gEasa-H |

394 HA T T 4, 9 2o faeedi 0 3 s 2w I o we fifam

(1) Fe IR MM aFI @91 & |
(2) weEIsEN AT |
(8) FHIUAR AR FFIOTAARI

(4)  =eE LIeE 2, SAfeH e A 2

[Question ID = 1350][Question Description = 135_00_General_15_0CT22_Q35]
1. 1 [Option ID = 5397]
2. 2 [Option ID = 5398]
3. 3 [Option ID = 5399]
4. 4 [Option ID = 5400]



31)
Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Asgertion (A):  Geothermal fluids are rich in =alts and other contaminants such as
hydrogen sulphide (H:S) and oxides of nitrogen (NOx)

Reasons (R) : Thev are reanjected into ground rather than being dumped to river or

ponds.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) i NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) 13 not correct but (R) 1s correct

=l &1 e Tu 1w B : vsk i (Assertion A) % &9 1 ffiad 2 #1 §59 304 #7171 (Reason R) & &9 4

sfameE (A) H-ATIT A7 a9 31 F1gEI AeEEs (HoS) d Tgai & Al (NOy) 94 5=
g 8 HgE A2 |
® WU (R) : a9 Afed 1 AT 0 F 9 @ g0 4 qq: saan & G 9 F |

P A A Y, = d e e O & das v 39 o 99 fiieu

(1)  (A) 3R (R) 2E1 97 2 37 (R), (A) F1 57 s 2 |
(2) (&) 3N (R) a1 a8 2 SfFA (R). (A) i wdf sapen A8 2
3 (EhEaE @R AR

(4) (A HAFE 2 A (R) TE 2

[Question ID = 1351][Question Description = 136_00_General_15_0CT22_Q36]
1. 1 [Option ID = 5401]
2. 2 [Option ID = 5402]
3. 3 [Option ID = 5403]
4. 4 [Option ID = 5404]

32) )
Which one among the following is not a unit of measurement of surface ozone?

(1) Microgram per meter cube (2) Nanogram per meter cube
(3) Dobson unit {4y Parts per million



feryferfiaa © 4 =t |ae) 20 Fams 1 2 w27
(1) =iz uld 59 Hie (2) g ufd =7 de
(3)  EEEATHEE @) v ufq faferm (g0 @ma)

[Question ID = 1352][Question Description = 137_00_General_15_0CT22_Q37]
1. 1 [Option ID = 5405]
2. 2 [Option ID = 5406]
3. 3 [Option ID = 5407]
4. 4 [Option ID = 5408]

33) Match List T with List IT :
LastI ListII
Water Pollutant Type Example
(A) Toxic Pollutant (I} Chlorine
(B) Nontoxie Pollutant (II) Protozoa
(C) Macroscopic Pollutant (IIT) Benzene
(D) Pathogenic Pollutant (IV) Food cans
Chaoose the correct answer from the options given below :
(1) (A)-(III), (B)-(I). (C)-«(II). (D)-(IV)
(2) (A)-(II0), (B)-T). (C)-(IV), (D)-(ID)
(3) (A)-(IT). (B)-(T}. (C)-(IV), (D)-(I1I)
(4) (A)-(D). (B)-(ID, (C)-(IIL}, (D)-(IV)
HAT-1 % =4 g=-10 o e s
i1 w11
el Wl &l =R K|
(A)  Tawm ugs I & iC
B) - T g D) s
(C) e T55F I =i
(D) TP 9T (IV) uisH & f2sal (52 34)
At T oo 4 5 we 39 a1 = i

(L) (A)-(IID). (B)-(I). (C)-(ID), (D)-(IV)

(2) (A)-(III). (B)-(D). (C)-(IV). (D)-(ID)

(3) (A)-(IT). (B)AI). (C)-(IV). (D)-(ILI)

(4) (A)-(I). (B)-(II). (C)-(IIL), (D}-{IV)
[Question ID = 1353][Question Description = 138_00_General_15_0CT22_Q38]
1. 1 [Option ID = 5409]
2. 2 [Option ID = 5410]

3. 3 [Option ID = 5411]
4. 4 [Option ID = 5412]



34)

Match List I with Last IT

(a)
(B)
(C)
D)

Tast I

Energyv Source

Wind Energy
Thermal Energy
Hydroelectric Energy

Photovoltaic energy

List IT

Environmental Tmpacts
(I) Emi=sion of Green House Gases
(I) Loss of mparian vegetation
(IIT) Hazardous for birds and bats

(IV) Production of toxic wastes

Chooze the correct answer from the options given below :

(1)
2
(3)
(4)

(A)-(IV), (B)-(IID), (C)-D), (D)D)
(A)-IV), (B)-(ID), (C)-(D), (D)-(IID)
(&), (B)-(I), (C)-(IV), (D)-(1L)
(4)-(I10). (B)-(D). (C)-(I1). (D)-(IV)

Tl-1 % "% Hi-IL %1 e Hifau

(A)
(B)
(C)

(D)

9 fe3 o feredi 4 8 AF I #1 WA difau

(4)

L
FA HMA
T A

FeAfrEd Hl

(A)-(IV). (B)-(III). (C)-(ID), (D)-(D
(A)-(IV). (B)-(ID. (C)-(I). (D)-(I1L)
(A)-III), (B)-(I), (C)-(IV), (D)-(II)
(A)-I). (B)-(D), (C)-(D), (D)-(IV)

HHI-IT
TR wHE
(D 1 2139 9 1 39
(I 71 for aofaal 1 &9
(D) gfer sin =mmes] & fou aaems

@v) Foaer spafrEl @ e

[Question ID = 1354][Question Description = 139_00_General_15_0CT22_Q39]
1. 1 [Option ID = 5413]
2. 2 [Option ID = 5414]
3. 3 [Option ID = 5415]
4. 4 [Option ID = 5416]



35)

Match List I with List IT
List I ListIT
Hazardous Waste Explanation

(Ay Flst (I} Hazardous wastes from specific
industrial processes

B) Klst (II) Discarded chemicals exceeding
25 kilograms per month

(C) P-hst (III) Hazardous wastes from non-specific
sources

Dy Uhst (IV) Discarded chemicals exceeding
1 kilogram per month

Choose the correct answer from the options given below :

(1) (A)-III), (B)-(I). (C)-(IV). (D)-(II)
(2) (A)-(ID), (B)-(ILL), (C)-(@), (D)-(IV)
(3) (A)-(IV). (B)-(ID). (C)-(IIT). (D)«D)
(4) (A)-(I), B-(IV), (C)-(ID). (D})-(111)
HH1-1 % |y H=-10 %1 Taer i
A AT
ST ST ST
(A)  UE-g @ fafoe i afFndi 4 om @3 ae
T HIfE
(B) F-Ei (D 25 Fretrom afd ure 8 sifess s e
(C) -y 1) -fafsre @l 3 e Fa=r s
D F-FH vy 1 Faemmm afa wre A s smafin mEeEe

414 feg 1o feererdl 9 9wl 397 =1 =19 i

(1
(2)
(3)
(4D

(A)-(ITD). (B)-(I). (C)-(IV), (D)-(IT)
(A)-(ID). (B)-(IID. (C)-(D). (D)-IV)
(A)-(IV), (B)-(IT). (C)-(I1I), (D)-(D)
(A)AT), (B)-(IV), (C}-(1D), (D)-(LLI)

[Question ID = 1355][Question Description = 140_00_General_15_0CT22_Q40]

A w N =

1 [Option ID = 5417]
2 [Option ID = 5418]
3 [Option ID = 5419]
4 [Option ID = 5420]



36) Modern Universities were established in India in 1857 at

(1) Caleutta. Madras and Hydrabad
(2) Calcutta. Madras and Bombay
(3) Calcutta. Bombay and Hydrabad

(4) Caleutta. Banaras and Hydrabad

wRA | @ 1857 6 s favafaareri $i v = 72 ol

(1) e, HgHE 3N S
(2) e, gEH 3 A

(3) e, 4 ST AETET
(4)  FerRe, SH0H 3T AR

[Question ID = 1356][Question Description = 141_00_General_15_0CT22_Q41]
1. 1 [Option ID = 5421]
2. 2 [Option ID = 5422]
3. 3 [Option ID = 5423]
4. 4 [Option ID = 5424]

37)
Which among the following is not related to the ranking of World Universities?

(1) Times higher ranking (2) @S ranking
(3) Madrid ranking (4) Shanghal ranking

et 4 & 14 fava = fvatrnea 1 15 4 dafua 448 87

(1) 2= e (@) w4 uaifam
(3  afzeifam (4) v I

[Question ID = 1357][Question Description = 142_00_General_15_0CT22_Q42]
1. 1 [Option ID = 5425]
2. 2 [Option ID = 5426]
3. 3 [Option ID = 5427]
4. 4 [Option ID = 5428]



38)  Which among the following are related to the gquality of research articles?
(A) number of research articles
(B) impact factor
(@ citation index
(D)  frequency of their publication
(E) h-iridex

Choose the correct answer from the options given below ;
(1) (A). (B). (C) Only

(2) (B). (C). (D). (E) only

(3) (B). (C). (E) only

4 (A). (B). (C). (E) only

fr=fefiaa § | %13 | sy orgi &1 E Gefam 27
(A) 9014 el 1 Fea

(B) WHE-FEH

(C)  FZ-Ha%%

(D) 39 Tahrer &) S

(B) wa-gasis

Fra fau u fawadi 8§ wE I & WA Fifa
(1)  F&E (A), (B), (O)

(2)  @%&4 (B), (C), (D). (E)

(3) e (B). (O). (E)

(4)  wEd (A), B) (O (B)

[Question ID = 1358][Question Description = 143_00_General_15_0CT22_Q43]
1. 1 [Option ID = 5429]
2. 2 [Option ID = 5430]
3. 3 [Option ID = 5431]
4. 4 [Option ID = 5432]



39) Match List T with List IT

ListI List I
Values Meaning
(A) Integrity (I) Having a good atfitude
(B} Team work (I} Dedication and hardwork
(C) Discipline (IIT) Do the rght thing
(D) Positivity (IV) Helping and cooperating with each
other

Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(I)
(2) (A)-(III), (B)-(II), (C)-@V), (D)-{I)

(3) (A)-(IV). (B)-(D). (C)-(LIL). (D)-(1I)
(4) (AIID. (B)-(IV), (C)-I). (D)-(IL)

11 % =19 g0 a1 foetrm it -

HeH1-T HH-1T
He HY
(A  Ha-fm @M sl wfugfa v
(B) #HYE FH (@D Hqu H 5FF ghey
(C) HgImEA (IID) & & FE
(D)  HHHTHFA] (IV) TOF HERED 30 Jadli s

dr4 feu mu faaedl 4 8 981 397 &1 F93 $ifaw .

(1) (A)III), (B)-IV), (C)-dD). (D)D)

(2)  (A)ID. (B)-ID. (O)-(IV), (D)-(D

(3) (A)-(IV), (B)-(I). (C)-(III), (D)-(1I)

(4) (A)-(ATI). (B)-(IV). (C)-(I). (D)-(1L)
[Question ID = 1359][Question Description = 144_00_General_15_0CT22_Q44]
1 [Option ID = 5433]
2 [Option ID = 5434]

3 [Option ID = 5435]
4 [Option ID = 5436]

AW N =



40) Which of the following were important aspects of Ninth Five Year plans (1997-2002)
pertaining to higher education in India.

(A) TImprovement in guality and systemic efficiency

(B) Conferring autonomous status by UGC on selected colleges
(C) Encouraging research in higher education

(D) Vocationalisation of higher education

(E) Improvement of quality and relevnace of technical education
Choose the most appropriate answer from the options given below :
(1) (B). (C), (D), and (E) only

2 (A). (B). (D). and (E) only

(3) (A)and (E) only

(4) (C)and (D) only

A 4 Al daedia 451 (1997-2002) 4 7= foian 4 wrafa geenpi vee fefofas 0 4 =9 4 27

(A) TEA 1 el 1 e 8 qun

®B) .. gm g gEfeerE @ e i T gEH s
(©) 7= foren 4 ony =) drEETEE A

(D) = e & sEEETaRE

(E) VT 1 HAW 31 dshAeh] o1 @l qrEiTeRd

e fqu o fasedl 0§ HEl I H =95 difa

(1) %&a (B). (C). (D) 31 (E)

(2) 4 (A), (B). (D) 31 (E)

(3) ael (A) 31 (E)

(4) %4 (C) 31 (D)

[Question ID = 1360][Question Description = 145_00_General_15_0CT22_Q45]
1. 1 [Option ID = 5437]
2. 2 [Option ID = 5438]
3. 3 [Option ID = 5439]
4. 4 [Option ID = 5440]

Topic:- GP_UGCNET_110CT_SH1_51_C



1)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foremn i 3 39k w1 1 9ok, Y84 iR uge ol s Huy 92 #) Sl A | gEm & fen ued g
fem-smenfoa fawamsn 61 @k =41 3 2@ % a9 § F9 U aaadsl 1 39 wE 0 Jare fef 2
Foed et wafe wftepfa = fuerf) < | sgron 8§ 39 P i Fvmenfe aifarfes yfessn 8 sem g2
&l 3arE wfeafem 2 o1 wfzas & At 8 ol s w0 difn @ ol 2 i @ s g
ugfa # i e 22 & wadga afyfern 2 frhl @ae o2 w0 2 fF gz gfrensi 6 qeen O o &
91 w1 Al T UEH w2 | HEa, qEeEeE HETH T SEEEE % 4 IR gEgd A
e d3fde 91 &) dfeh UE 39 =9=9] &1 0 30 9" S1EeE & d 5 % 2 )

amifses HeE O 99 dd H1 auAsl & =999 9 9E F " qEy W ad o a2 | gg wdfi-
FHR Wd 38 Ak ol Fedwa 1 i qiaa @ 2 e 2 g fem a2 e anamges 2o adl
sawd 3 fraerE R 9 9w Hhg aumsn i fe e el d o we e fafere st @6 fae o
UF1 & HTY AT 2 |

Reflective evaluation takes into account :

(1) Subjective perception of public issues

(2) Mere counting of societal developments

(3) General understanding and public reasoning

(4) Extensive arguments on inequalities



(1
(2)
(3)
(4)

S WHE = T
aaTA-Hw | R = waEs o
HTH HYZ SR S T

SR 3w g e

[Question ID = 1361][Question Description = 146_00_General_15_0CT22_Q46]
1. 1 [Option ID = 5441]
2. 2 [Option ID = 5442]
3. 3 [Option ID = 5443]
4. 4 [Option ID = 5444]

2)

Read the passage and answer questions from 46 to 50.

HReflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment 18 not Just a demand for self-centred evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social

evaluations may be starved of useful information and good arguments if they are entirely

based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1= more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the

choice and weighting of capabilities in social assessment is important to emphasize. It also

points to the absurdity of the argument that i1s sometimes presented. which claims that the

capability approach would be usable and operational. only if it comes with a set of given

weights on the distinct functionings in some fixed list of relevant capabilities.

T ] G T YE 46 H 50 F IF 2

foramrl gearerA 4 Faa e $ afes Arfas e | Adfa a6 owin w2 ) 92 v v owE 2
ol 2 wed =4 78A 2| gegiaAl ) Ee 3 TavanEa @) fasa @ & o sl 3= sfas de
a9 &% ot 70 3 w9g 4 4 A9 & Guiidd See ol wifed s Zom) Hdian afn s
A il AETIHRA 4 el Ul H G 6 T8 SAfaddl g A —hign YediEA 1 5 8§ afok a8 4
Tl 3 qrEfe 99 a6 angrEEa L g=s o 2 | gfe unfas gearea fm-fem i v e
ROl R 115 e e = v e i B e i o e e S 1 O
foen sl 331 39 HF1a1 ) g, yad ol ugea 6l 98@ qug 9e1 d@ Aad 2| g % fom ued o
fem-smenfa fawaasi < @k 99 4 7F & a9 0 39 ) aEas] ) 39 #1090 dEEa e @
Foes weed quTe =il T8 berdl o | 3w 4 34 Fea SR e aiaies girmsn 8 sem s
&l ¥geE wfeafem 2 50 wfzas F At g onlds s @ | @& ol 2 s w5 g
ugfa § o srem 223 1 e afofern 2 o srae o2 0 2 f5 9z gfzensi 0 qem O ol &
A1 F AlYE T TEH Al 2| HEe, e HETE o SR F 4 TR gEgd |
el dafader Tom &1 9fcen e 99 991 &1 91 31 U e i J gm oEeE E )

qrfae 3Taad 8§ 94 T 31 A1 & 9594 d YA & &= 6 HEY 9 a1 EvdE 2 | 98 Efl-
U Wid 39 Ah ol Frdwa 1 i gaa @ 2 el 2z g e s 2 i dnamges gfesm ad
saaAr 3 EerE R 9E 97 Heg duman & e e g 8 oum ae are fafere @l @ fge o
URT & {19 S8



A robust and eritical evaluation will result in :
(D Interactive public discussions (2) Selfcentred assezssment

(3) Availability of useful information (4) BSequestered cogitation

HIT A AT geaiEA |

(1) arrorfis 549 == (2) S -hizd A
(3)  Fuwfl AHEE 3T (4) uEFE fFe

[Question ID = 1362][Question Description = 147_00_General_15_0CT22_Q47]
1. 1 [Option ID = 5445]
2. 2 [Option ID = 5446]
3. 3 [Option ID = 5447]
4. 4 [Option ID = 5448]

3) Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible 1mportance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment is not just a demand for zelf-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discus=ion and deliberation can lead
to a hetter understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate, public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that is more geared to rocognising men's deprivation than
women's. These iraditional antecedents of zender imeguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the
choice and weighting of eapabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that i1s sometimes presented. which claims that the
capability approach would be usable and operational. only if 1t comes with a set of ziven
welghts on the distinet functionings 1n some fixed list of relevant capabilities:



T ] G 3T YS 46 H 50 FH IF 4 -

Tl yegrea 9 Fae E F gfes Jiees gee | welan ad ) am g 2 ) 92 ue v o 2
forad 20 wem =45 T8d 2 | grdiaAl 1 95d iR fqvasdEd #1 faga @ % o i o sfas dos
g % feu 3y sm wum 0 99 a6 % Awifad weed &1 wiifed son 2| e s e
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
Tl 3 TR R fdeh | ATHEEE A w1 HF6 i 2 | gle gt gt i=-fas s v e
gt quid: et #L A 2 2l saedl i = Al @ s 2 o T e e o fasm
frm sl 3R 29 garal &) gfiesr, 989 o e i 989 g9 9 8 gedl B ) sgem F fon upd 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
=i Faeae) wigtem & o ufEasi & dmrtes d i sE w1 e @ gl 2 s wmies ge
ugld | i Hew #eq ol wadaen a@fwferd 2 e sae o2 v 2 gz gfeensi & gen 3 e &
a1 H1 AUH T HER A 7 | HEAE, [FEEE HEE 8 o e & 4 9 qEEe |
et dafere e &1 afesh smwe 39 == §1 dl 3w SAeEd 6 d g e 2 )

s A 4 949 7 311 GUAIS & =984 J YA & Wi & WAy T dd oA AT 2 | g @dl-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The pubhc discussion on gender inequalities makes us support :
(1) Time honoured family roles

(2) Restrictive social roles

(3) Deprivation of men in society

(4) Reforms 1n the present social value system

o wEgEAs w FA 99 § 20 fewe wuda & g 27

(1)  Terepenfaa arfrenfes gfgesnd

(2)  wu=EmE drartes syfremd

(8)  wHTH U EEl A=

(4 =iy gufas geu vglh 8 g

[Question ID = 1363][Question Description = 148_00_General_15_0CT22_Q48]
1. 1 [Option ID = 5449]
2. 2 [Option ID = 5450]
3. 3 [Option ID = 5451]
4. 4 [Option ID = 5452]



4)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foremn i 3 39k w1 1 9ok, Y84 iR uge ol s Huy 92 #) Sl A | gEm & fen ued g
fem-smenfoa fawamsn 61 @k =41 3 2@ % a9 § F9 U aaadsl 1 39 wE 0 Jare fef 2
Foed et wafe wftepfa = fuerf) < | sgron 8§ 39 P i Fvmenfe aifarfes yfessn 8 sem g2
&l 3arE wfeafem 2 o1 wfzas & At 8 ol s w0 difn @ ol 2 i @ s g
ugfa # i e 22 & wadga afyfern 2 frhl @ae o2 w0 2 fF gz gfrensi 6 qeen O o &
91 w1 Al T UEH w2 | HEa, qEeEeE HETH T SEEEE % 4 IR gEgd A
e d3fde 91 &) dfeh UE 39 =9=9] &1 0 30 9" S1EeE & d 5 % 2 )

amifses HeE O 99 dd H1 auAsl & =999 9 9E F " qEy W ad o a2 | gg wdfi-
FHR Wd 38 Ak ol Fedwa 1 i qiaa @ 2 e 2 g fem a2 e anamges 2o adl
sawd 3 fraerE R 9 9w Hhg aumsn i fe e el d o we e fafere st @6 fae o
UF1 & HTY AT 2 |

Gender inequality in traditional societies demande
(A} Individual discourses only

(B) Public discussions

(C) Limitation on opportunities

(D)  Agitation based on public resoning

Choosze the correct option :
(1) (A) and (B) only (2} (B) and (C) only
(3 (B) and (D)) only {4y (C)and D) only



Td w4 fer stmEe Feeh oin e 27

(A)  Fa =fFE ==

B ==l

(C)  3raFgd W dim

(D)  SH A | AT HEEA

wel o =41

(1) e (A) 30 (B) (2) 4 (B) # (C)
(3)  Fae (B) #n (D) @) #Hd (C) i (D)

[Question ID = 1364][Question Description = 149_00_General_15_0CT22_Q49]
1. 1 [Option ID = 5453]
2. 2 [Option ID = 5454]
3. 3 [Option ID = 5455]
4. 4 [Option ID = 5456]

5)

Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 18 not Jjust a demand for zelf-cenired evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fizxed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1z more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough., agitation. The connection between public reasoning and the
choice and weighting of capabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that 1= sometimes presented. which claims that the
capability approach would be usable and operational, only if 1t comes with a set of given
weights on the distinct functionings in some fixed list of relevant capabilities.



T I GG HH T 46 H 50 N IW Q-

ferarl yearaa 3 Fae e 6 afes anifes gee 3 @efan b ) oaf s 2 22 v v e 2
ol 70 wed =4 784 2| gegieAl ) Ee 3 TavasEa #) fasa @ & o s 35 afas de
I % T g wm g 0 9 aF % awifad e i uftifea s 2o g sin adfieers
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
T SR IR 99 A ] ATHERET il gah i 2 | afe anifas gemed e -Tee i v e
R\ B i B = 2 B e B e e 0 o e o e B L R SRR R
foranan 3 9 w1 gfvs, 989 i gEes & dEar aum de B aedl B | JgrEmn & o uwe 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
i Taege wferfed & o1 afEasi & gt 9 snfds s o difua @ afl # s am i ge
uzfa | i sem 229 1 w@agm afyfem 2 fogh snee g2 ©f 2 f5 gz gfzensi 6 qen O &
a9 &1 i g=ra wem #dl # | gerf, e w8 oomEee & 3 gEien gEen A
et daferren T <1 afee e 59 == 61 A s g e o g e #

qrrfae saed 8 99 dd 317 sUAIs] & 994 d 9E & di9 & JEY W ad o A9 2| g8 aafi-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The major take-away from the passage is:

(1) Promotion of a capability system

(2) Separate soclal assessment of men and women

(3) Recognition of the traditional value system

(4) Absurdity of a capability approach with a fixed list of weights

erT &1 g e 2

(1) Uk gl 73 1 SreETE

(@ g 3w afeens @ fue-fem amfas srees

(3)  THEM §= TG He

(4) Wl & frga g 9w smanger gfedm 6 e
[Question ID = 1365][Question Description = 150_00_General_15_0CT22_Q50]
1. 1 [Option ID = 5457]
2. 2 [Option ID = 5458]

3. 3 [Option ID = 5459]
4. 4 [Option ID = 5460]






